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4 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
| am just looking around for a Pencil.

A.neglecting
B.searching
C.relaxing

D.avoiding

Answer: B.searching

5 fr&2T: TfereT gul w1
EAIl, GDM, 1GQ,?
DIRECTION: Complete the series
EAIl, GDM, 1GQ,?
98 JaSa S 7w ol il

EAl, GDM, 1GQ,?

A.KJU
A.KJU
A.KJU

B.lJU
B.IJU
B.lJU

C.MJU
C.MJU
C.MJU

D.NJU
D.NJU
D.NJU

Answer: A.KJU
A.KJU
A.KJU
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U TTaT HISTUTTa T aTuRd SR Ueh 1 3lg—

An instrument used to measure the density of milk is—

o S Sl )y iy il S iy (S IS (S 2350

A TIFCIHICR

A.Glactometer

A. i 550K
B.alda IR

B.Lactometer

B. _re 55
C.FicrrsiiHiex
C.Calciometer

D. UIARIHeR

D.Polarimeter
D. i s ¥ s

B.dacHIeR

B.Lactometer

B. e 55

EACIRNUE o gD 3ed
J.K. Rowling is the author of —

.wm&ﬂj\)é@

ATIH GiaR
A.Tom Sowyer
A. S Jisu ol

BRI U}
B.Harry Potter
B.=< Absow

C. WIS
C.Spiderman
C.ie i)
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D.None of these
D.od &S = o O
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Answer: B8l Uicx
B.Harry Potter
B.=S s
8 I feeien warameyH ae o fAde.

DIRECTIONS: Choose the odd one out from the given alternatives.

ofis S5 o o dilie K o

AZTS

A.Hut
A8 s

B.3ARM
B.Building
B.& jlae

cdg
C.Tent

C.a

D.TeTl
D.Cave
D.e

Answer: D.Tel
D.Cave
D.e

9 * SRAATR i st * T IR 31 BT 2

A JUIdaR UgR AUl
SENICERU
C. g 9 <ol
D eI 01

Answer: A IUf[daR UBR &0
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TP TSISATA AIH FTTaid B
Convert a week into hours:

£l e (eSS iy S

A.202 d¥9
A.202 h

A.202 S

B.168 dI¥
B.168 h

B.168 S

C.206 dig
C.206 h

C.206 e

D.208 di¥d
D.208 h

D.208 il

B.168 dI¥
B.168 h

B.168 S

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,

choose the one which can be substituted for the given phrasal Verb.
You can count on this study material for the preparation of your exam.

A.discard

B.throw away

C.rely on

D.abandon

C.rely on

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most

similar in meaning to the underlined word.
Susan embellished the plain curtains with satin ribbons and tassels.
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A.Decorated
B.Stained
C.Spoiled

D.Tore

Answer: A.Decorated

13
I @Rl YT U AT Toay Zrafder g 0T ot Hedrdl Hehd! FHUIA Algell A5, HHEeredr
ARTEA a9 afOdedrd AB! Fardl Al HIHI FAr HT § TFeren SRarT 3.

DIRECTIONS: In the following question, a design is given, marked as key figure. You have to determine which
will be the exact view of the original key figure seen from the reverse side of the paper.

T |5L.r|.r L}.IJ]SSL_.I'-IF',-_—lejf 53 ,_}:Lg; |_';.1| U'._rl.m-_).g_)gb -'_1.5'_)119.11- fl-"l ] uylj.u.r J{J-"E_Jm :;'_'.al..lll—‘-
'u.f_f I.ES-J_{JIJ T ﬁy&m,ﬂ*lJﬂl_HLUiS{Jf_uud_;b ﬁ_;w_gjr_ljlf‘[sﬂjlf_g-"l.jﬁ

e et FTRIATS! TATdt aFean
Main Figure Answer Figure
Higeai ol rge0i oS wlg>

& 5806
A B C D

Answer: C. (C)

14 G GOt e

Find the missing character.
DG
I | N
P |7

il

B. X

C.W
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Answer:

D.Y

C. W

c.aig

I U'E U =1 S0 TgUH B HRUITITS!, S0 Sraal ........... .

To make the number pad act as a directional arrow, we press ......... .

AFH i
A.Num lock
A.SY A

B.h W i
B.Caps lock
B.<SY LS

c.R dle
C.Arrow lock
C.&Y

DR
D.Shift

D.cil

o S S Jlaail  jsh S 5 Slew S 3y s
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<1 fafgdiar R Wrielt STvarITdY UR=AT 3rdrd i1 FuTdTd:

The wells having steps for going down and coming up are known as:

O S Sl ¢ o Ula LS Jlenind 1S 5y A S Gl ) Sl o Gpens G580

AT fafgst

A.Step wells
A U)sS Aa e

B.®RITRE fagik

B.Artisan's well
B. UsS 8 S8

c.cgd fafgr

C.Tube wells
C. Jis s

D. Ut Id
D.All of these
D. s s e

A TR fafgt
A.Step wells

A. U 5S Ala e

SR warel fagndf et YeerraR Saearel ARUATE YHG! ¢dl ST sTuedrar difed 3iTe fas o faemf gu
URIeE 38 HT 3T IR 3101 BT HRUMR?

If a student gives threat to assault you after the school and you know that the student is notorious
what will you do in this condition?

d‘*w\‘f]}jc‘sé—‘ﬁhmﬁk‘d&ﬁsu.ﬁcl’h‘r‘ijj‘S'QJNJéc')SA&méd}s‘“‘}S‘TJ#JLL‘—;‘J\)g‘
§ L S e

AT ST Job HEd HIUIR 9 AT ARTUR
A.You will feel sorry and accept your mistake
A S S Jsd Skl Gl s S S Gesedl

B. 3101 et 7S faemafe Teram Irdr ufast UR

B.You react against him through some goonda elements
B. S beS daed) b S pealic 1t gaS M S o) o

C. 3{TIUT AT YHDT G AT 3R WIh=

C.You will give him a threat and accept the challenge
C.. R S Usd Sl 5o K Saas ol e
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Answer:

20

D.3{TYUT 3TUQT IFT JMid HRUGTH TId S d JRARIA § Tehvl Hieq,
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D.You will try to pacify the anger and settle down the issue in a favorable direction.

D. S LS Ja (e Crans i pn € alia 5 K S GRES (S S I8 S e

D. 3T ST IFT R BRI Td H= g GRIRI § TR0l WS,

D.You will try to pacify the anger and settle down the issue in a favorable direction.

D. =8 1S dn Ge Coams Coni 58 aliasa sl K008 (B85S S 15 S 18 S at o,

SR YS! DHTH BHRUMRT HRB AU AR J1¥ ¢d 378, YT 3 YUIUIRITST D1 HId

qrea?

If your salary clerk is harassing you unnecessarily, what would you like to do to resolve it?

LRSS A S S8 da s by Sl osheosa e Sl SR, nelaniSal &

A 301 1T HRUATE! YHPT SUIR

A.You will threat him with physical assault
A L0955 S S alea Glans il

B. 3TN ATl AR GHSTUA YR g
B.You will force him to deal in a civilized manner

B.2S S e S S SRS e Sk e Sl

C..3{TU T G H&
C.You will neglect him
C. =S S kil o

D3I GRHTE AT ST 3Rd WU S{TI0T T &,

D.You will keep silence as you deal with him every month.

D8 & 5y s il Sl e U G S8 S G isals

B.3{TUT Tl ARIRIc THSTOAR HF 08
B.You will force him to deal in a civilized manner

B.2S S Dsie S S8 AS e Rk Qe Sl

A Bt B T 9107 31Tg. C &1 B dT 3MTS 3118, D 81 C o1 Uchl 3118, E &1 D T 313 318, AT A T D Tiad Ald 31872

A is sister of B. C is mother of B. D is husband of C. E is mother of D, then how is A related to D?

BA-uw SBC o2 S.CD 2 0B DE s 20 SABD Sl aid) s

A3 318

A.Maternal grandmother
Al
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B.3Tsd daoid

B.Maternal grandfather
B.lala

c.gait

C.Daughter
C.oi»

PRIPEIRCIIEIR]

D.None of these
D.usd &S e O

Answer: C.Hﬂ?ﬂ

C.Daughter
C..i

21 TEAT: Wl fedean faum (A) Sfor sRur (R) A8t Wreitd Ut 9 wafg fAge:

faU™ (A): ST A4l IRRT Uh e YfHeh] Sellddrd.
PRI (R): D IR Ao IR0 Hed HRald.

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from
the following:

Assertion (A): Ears play an important role in human bodies.

Reason (R): Ears help in maintaining balance of the body.

Ol 28 iy a1y (A) Us) (R) boS e Jalie mamia e 3 aatie Al S aag:

o) (A): -om S8 OIS adl Sl e s (Sladl QIS
ras (R): o 8 23 (e 368 DA S 0015 S mua OIS

AT (A) 3T (R) T 3R 31T (R) (A) T TG THIBRT 348
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A.(A) b3 (R) s o zma 05352 (R) (A) = by s 0 (S

B.2al (A) 3T (R) WX 3MTed, T (R) (A) T T TFTEHROT AT
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) 051 (R) & o e 0552 (R) (A) = 0 cabiay o 2 (S

C.(A) I 3175, IR (R) Wic 318
C.(A) is true, but (R) is false
C.(A) M zmaa (R) ke

D.(A) |12 3(Tg, W (R) I T8
D.(A) is false, but (R) is true
D. (A) 5« = B (R) = s
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Answer: Al (A) 30T (R) I 318 d 3f0T (R) (A) T TG TFIHRUT 3T
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A. (A) L3 (R) s ux e U592 (R) (A) = Csbia g oy (S

22 3{TYUT ST Jufddd BT AU STET ST dAdedIdd ST ASTRIA g STae saadt =i 7T
AR Yol 3MTaid! 3. 3R] U AT e lad &Y aRTuIR?

You are very busy in your personal work meanwhile your neighboring retired person visits you in a
relaxed and gossiping mood. In such a time how would you like to behave with that person?

O oo Ul T ile Gae S50 058w gy sl 02 al 1 o€ Gl Gt I ) (o550 S ol Syl G Cag peme Sy e oS Il

S RTE Y P N I PPN W R

A.3{TI0T T JUTHUT S HRUTRITS! SIS aci gob i GRAGUIR

A.You exhibit passive attitude in order to discourage his conversation
Aoy S Se bl gy dd e S S8 dass (S S S

B. 3O &1 T Hiad sR dTed 311 § FHS ol Jgary SfHard °req,
B.You enjoy the company by thinking that you too feel relaxed with him
B.ow S Gesmna nd pl @il S (Gl o G AS G e 8l ahal i G (S Gl e s e

C.. 31T T 3MTER SIS UuT T TUedT Haffed do! Alfed! 4%

C.You give due honor but tell him about the time-limit
C. =8 Gl e ol S (oS (S iyl (8 G A Sije S il o

D.3M1YuT RebTa= 9 311701 i Sodrar faaR &<,
D.You sit as an idle person and think of his departure.
D.ow Sasmw o o b S Sl S ol Sy zob (S gadd )8 oGl

Answer: C.3{T00T T TG S U1 FiHT STl Hafiad dad! Hlfgdl 43

C.You give due honor but tell him about the time-limit
C. S 0l pe o b S (oS (S iy il (Sl G S e S il

23
=T SRl 43 9% 9T 9919 fAaeE “—j=4

2
Specify the choice which gives the number that would replace the question mark : ;—: =4

1H—ﬁ=-4::="-m o i 5 Olis adlgw 97 )8 asiio Ll

27

A. 108
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B. 10664

C. 11664

D. 1664

Answer: C. 11664

24

Answer:

25

GET IT ON
Google Play

g TSITaS! J afkne 3mgd

& are features of ADHD

op s Sl sl

AT SHTIOT SRRl

A.Intention & impulsivity
A ksl sl cus

B.2q 3T Sfafa

B.Intention & Internal

C.3{dll HagARI 3NfoT 8
C.Hyper sensivity & intention
C. i sl Cubun S0 A5

D. 3G STOT 37cht TSR Srag=udl

D.Inattention & Hyper sensivity impulsivity
Dl ksl 5 cuslia S5 (85: )5l aasipae

D. 3G 3AfOT 31l HagARId SRGRIdT

D.Inattention & Hyper sensivity impulsivity
Dkl 5 Cuslia S (A5 sl masipre

o3

R0 Gl i Ul ATaed RITTAR 315, aR Id THUT favell allds 3Ted 2

| am seventh in the queue from either end. How many people are there in the queue?

§ o S5l S Gae SIS g gile —w iyl s SIS e

A10
A10
A10
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B.11
B.11
B.11

C.13
C.13
C.13

D.14
D.14
D.14

Answer: C.A13
C.13
C.13

26 g1 AT T, Q 81 P U&l 39 3HTg U1 L 3dbT 39 ATel. M 8T N 3101 O U&fT 39 3{Tg U0l P 3ddhl 39
e,

In a group of six children, Q is taller than P but not as tall as L. M is taller than N and O, but not as tall
as P.
Who is the shortest among them?

o Celan (S s e QP Selend oL ol Wian MN Uyl O S leadd —w P2 03 Lol Liia
f o 0S Usen ot U )

AN
AN
AN

B.O
B.O
B.O

C.M
C.M
C.M

D3It} ARl

D.Data inadequate
D.H80 &3

Answer: D.S{@ ﬂTf%?'ﬁ

D.Data inadequate
D.H80 &3
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27 SR gl Hidh g, HIdhTall TR Tged, TRedTell aNTal Tged, STl fade e, it faesra fad wed.
R Y&l IS Tgdl?

If cave is called hole, hole is called nest, nest is called tunnel, tunnel is called burrow and burrow is
called bill. Where a bird live?

€ s Uiy S o2y 55 e LS 3 pmn S s) oS K 0K S Lt o€ Dl g6 S 2 g 2l S e R

A MIH
A.Hole
A s

BRI
B.Cave
B.oe

CIRC
C.Nest
C. Dl 58

D.SRTal

D.Tunnel
D. &

Answer: D.Eilllal

D.Tunnel
D. & s

28 TTeiicites! B HFRID T HIT 318

Which of the following is part of psychosocial domain

= rean 1S a3 alen (ouidi (S o e U e

A FiIB=Ie

A.Motor skills
A&l (S s

B.ac
B.Style of behaving

B.osklS S8 b
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29

Answer:

C.5gat

C.Memory
C.sosem

D Tt} BIurchigt ATl

D.None of these
D. 0 2SO

B.gd el

B.Style of behaving
B.oob & 8 b,

Q-1 dat RIS I Th UHR 3T

Shaken Baby Syndrome is a form of

S OS o pnid Sl aspSi aa Dlse (e (s

A ST o]
A.Child Abuse
A gl S

B.STYUIIA 3rd
B.Accident during childhood

C.99d &y
C.Birth defects
C.uadi Sdlay

D aidt®! HIvde! et

D.none of the above
D.ot 58 e Yoz

A ST 0T
A.Child Abuse
A58 gl S
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30 firaienT gda ararae goard HRd ST 3 et Siar F1ud. T, Haier Sodids asd it 4 fet are.
R f geardear fEHomRg fad g3 3me?

Priyanka start walking towards east and covers 3km. Then priyanka turns right and walks 4 km. How
far is she from the starting point?

Sle bl SO el ol 3 ol B g S e Ll € sl 3 5 LS g 5 5l Uil Capla (S5 e 1S
?5'JJAGJSS°JC-“’*L'§5

A.10 et
A.10 km
A10 fwsK

B.8 foHT
B.8 km
B.8 xS

C.5 fopHt
C.5km
C.5 jsmsK

D.4 fopH
D.4 km
D.4 fiask

Answer: C.5 foHT
C.5km
C.5 sk

31

-3, 3R I Yh o1 HRMH IR STl —
Bull-Run, Bear — Run are terms used in —

.dU)?\d\.AﬂM\LSCm‘QJ‘);\cQJJ

AT
A.Rugby
A L)

B.$ag!
B.Kabaddi
B.uw s3S

C. 3R INR
C.Share- Markets
C.ume S sl yud
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D 3fiferieyey
D.Olympics

Answer: C. 3R FOIR
C.Share- Markets
C.uxe &S e yud

32 AR =Y T
5556 + 6329 + 7709 + 2134 + 8642 =?

Simplify:
5556 + 6329 + 7709 + 2134 + 8642 =?

ol ol
5556 + 6329 + 7709 + 2134 + 8642= 7

A.23145
A.23145
A.23145

B.12378
B.12378
B.12378

C.30370
C.30370
C.30370

D.85230
D.85230
D.85230

Answer: C.30370
C.30370
C.30370
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33 AT Wreilel Y10 HERTeAl U desdrel (dtel=t / diener / Bl agar arde 3 @ s

urselr HTEA. § FIG IAFSCAEY WA AT fewar. stvgrad waiiHEde el gt fHasT
i FerTseATR HEG TaRd qed grafaeargHT .

DIRECTIONS: In the following question a sheet (square/drcle'triangle) of paper is folder and punch is made.
When unfolded the paper sheetlooks like the question figure. See the answer figures and select the one that follows
the manner in which the paper is folded and punchis made.

o3 Whissag oo i) ol 8ad 550 Ml ol FmpeotihiceS BE e s Mg it i Sicolilbe
alaale 5 uslai oS wlsz - = il Llai b S ugai <8 Jlow i g5 = bz YegS 55 caniv oS 355 w2
55 86 us gz = S spu oS < @b gl 52 GiS wiie 55 usai cal Sil g gas O sl G5
=t U8 Ll agz gl = S s

g ) i o

X b NN

X (4) (B) © D)

1 ! (]
' I '
' i '

A. (A)
B. (B)
C. (C)

D. (D)

Answer: C. (C)

34 AT WISl 92T SIS Gty FI0Tear Gl i 9eTde el 3ideld 3e?

DIRECTIONS: In the given question find the answer figure in which question figureis embedded.

N

@ ® © o
A. (A)
B. (B)
C.(C)

D. (D)

Answer: C. (C)
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35

Answer:

36

qThaR ITAUAT SO FiGe el Udh HE T HIT 318 HIRUT d -
Flywheel is an important part of a steam engine because it -

S35 oy e o) 1S Gl ey S (i 03)) s SO

A ZSar amad g
A.Gives strength to engine
A = ady cdlla S ol

B 39T TTdIH Hd

B.Accelerates the speed of engine
B.=blad S, S ol

C.Z9dT et A $9UaTd Hed HRd

C.Helps the engine in keeping speed uniform
C.2 US 23 (S ol e S6S) Jsa S )18

D.SISAT &UT HH! B

D.Decrease the moment of inertia
D. oGS a8 S S Shid

C.Z9HdT Tl IHH $9udTd Hed HRd

C.Helps the engine in keeping speed uniform
C. =2 US 22 (S ) (e 568 Jlsy S

GET IT ON
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AT, STUedTdid Gedie GrRIg HRUARITS! ST STedTell HIotl YfHdd UTg Siwsdl?

In a society, what type of role do you feel for yourself to resurrect values in it?

S 58 Gpmine 38 IS wd (S 8wl S 5 Sg 5 ke 58 L) G o o pllan S

ATHTA
A.Effective
A. S

B.3MIHTA
B.Un-effective
B.ois e

C.HMHY
C.Normal
C.nsee

D. 4T YUIR ATgt
D.Nothing to contribute.

D. 5 0 U s 25,
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Answer:

ATHTAT
A.Effective
A Sise

37 ST WTeliel SHaRAT BrsSiyde e HTOT Gelt faeredn usi=i ST .

PJ%5DSLO3#AQ4@QUFT*Z8K2M&H

SR TTRTY 37T fardll WA SHTed ST Th1 FgIgd! ST0T FHT AR IdT?

DIRECTIONS: Study the following arrangement carefully and answer the questions given below.

PJ%5DSLO3#AQ4@QUFT*Z8K2M&H

How many such numbers are there in the above arrangement each of which is immediately preceded
by a symbol and immediately followed by a consonant?

S Sl o sl a0y S i (S e e Gl

PJ%5DSLO3#AQ4@UFT*Z8K2M&H

fom il gt & gy S8 ) (o glilis Ly SGa mapa Kl e i gl

AUdD
A.One
A

B.gH
B.Two
B.s

cdHA
C.Three
C.us

D.®Tgle! el

D.None
D.oy &S

Answer: AUdh
A.One
A
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38 A= Eeea RS e (3ras) HAUT Mg AigE wren

DIRECTIONS: Find the odd from the given four figures.

—‘_,._LS e Gadne et e 4 ;S G2l
o a
G ¥
*] 4]

L™ ' !

(A) (B) (C) (D)
A. (A)
B. (B)
C. (C)
D. (D)

Answer: A. (A)

GET IT ON
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39 T WIeitd ATfgd! dlodd ardl ST @Telid Tyie 3w &
ST Ird ufaffe R, i, S, Ao, 7R, aref 3o Aifga i dmaTe i A, O <= 3Rd
Zferor 3nfdhepT, sifeeforar 3nfdr =y, iomie! TS 3edsarsdl daTTea feasht Targ el (HIurdTe!
G el UbTd feasit var dar A1l IR URgH JeaTd &, AGdR] JaT . fbar giH
Mol YD SR TaTd el SO Sf&0T b1 8T Uhdl ST <= giell f1Y i dliep .
IR SI&o1 Sfihordr AHaRT . Urd Sfiee ferra Iar qor df 1 Hiiesar] e =1 [HaRT 7iar. difga
AR T T Ot oIyl Tia HATel. St ek ST erara et foe HiedRt Ward el AT it Thr=aa
el fom AR var e, TRAM gUaRt Udry der. Rar afaror sfthde et ot TeaRt et Aral. e
THT=a Telt ATa).
1 wfafftet Sivft et yar war

DIRECTIONS: Study the following information carefully and answer the questions given below.

Seven representatives of a company — Sagar, Nilu, Reema, Shweta, Garima, Parth and Mohit
travelled to three different countries i.e. South Africa, Australia and France. Each of them travelled on
different days of the week (no two persons travelled on the same day), starting on Monday and ending
on Sunday. Minimum two people travelled to each country and South Africa is the only country to
which three people travelled.

Sagar travelled to South Africa on ‘Monday. Parth travelled to Australia but neither on Tuesday nor on
Saturday. Mohit travelled on Sunday but not to France. The one who travelled to Australia travelled on
Tuesday and the one who travelled to France travelled on Saturday. Garima travelled on Wednesday.
Reema travelled to South Africa but not on Thursday. Nilu did not travel to France.

Who amongst the seven representatives travelled on Saturday?

o Sl SOl 8 0 2 s gy e glad S Slagles dd aa e iy

D31 Bl ST e i i o sSde Cilida (5 e s) 6 el S el ey b 8l — o sila il S el S
oadd 50 (S) LS e (e sty aline SN S S AR S s ol g sl e pm S e e O LS A6 1S (il i
SRS 058 G o Sl anl s i il asin sl LS i 1S Se Sl gy 308 53 S s S (LS (g s (03 (3 Sl
LS iu

a0 S e o a sl S R 55 A3 S LS i S L Sl gl S i IS A8 8 asia (0 Sy S Rl
=0 LS i € Gl b e 9 LS i gy S 0B 3 Gl LS R IS L T 5 e G 1S Gl S LS i S )58
Dh S il gp 3 b oS il pmen (SIS i € 0 81 i ley) LS i San le LS i S e S
Sl S S S i 08 e (e o saiilel Sl

AT
A.Shweta
Al gl

B.fr
B.Nita
B.lis

c R
C.Richa
Cly

D.fuifva Fa Wi wred gl

D.Cannot be determined
D. = U I LS (gt
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Answer: A.%FlT
A.Shweta
Al s

40 Ueh] BT Tidbs dic GrRagd, Th J3Y U, “df 715d1 U ol Jardl afsdial Uaid! IR 3Hig”
T Tl AT YIS ATd B1?

Pointing to a woman in a photograph, a man says “She is the mother-in-law of the wife of the father of
my only son”. How is the woman related to the man?

e S se " G (S s S Qb S sty o e 2" LS el S S La Gl (SO se (ae gy s
e Al WS

Aga

A.Daughter
A A

B.gal
B.Wife
B.ss»

cg

C.Daughter-in-law
C.s

D.3MT8
D.Mother
D.uw

Answer: D.\’rﬂ":‘gc
D.Mother
D.uw
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41 T & faU™ SfT AR IR FsB, |1, 1, 111 30T 1V 3 emea. 81 faum Smamaa: Jd aegfudioen
fiyer et ot T 3R 3 O, et Sivrar ey feder faumias Tawt Bredl 3%, Xdhdl 7
TR AT 3R, JHd IR Yferd Dl

faem:
. 9 IRY ATId 3.
II. I 3T UiferTi=4g 3.

frpy;

DIRECTION: Two statements are given following by four conclusions, I, Il, lIl and IV. You have to
consider that statements to be true, even if they seem to be at variance from commonly known facts.
You are to decide which of the given conclusions can definitely be drawn from the given statements.
Indicate your answer.

Statements:
I. All squares are rectangles.
Il. All rectangles are polygons.

Conclusions:

%@#UM%JL?/&%%)A:QL&‘*_ l<lle |||J_5\ IV.%"}U#AC"?SJ%;\ ccit.'\.'ﬂ.niu»)dci\lﬁ:\inbjjsc?ﬂ.
) DG e St s o LS LA ) sk il s re gseadd S S Gl (S ) e G (Bles ol
o NNl s,

Oy Uledal:
l. = Sis debise ) S ol
I = s 0559l sy daaiene ol

AFRY BT UlferTi= el

A.Square is not a polygon
A s on oS S

B.IRY BT GIerI 3T,
B.Square is a polygon

B. = U 0Sds oS,
C. TR BT 3mad 3for uiferi= 3ig.

C.Square is a rectangle and polygon
C.= s oS ds Lyl dilaiis ;5 Ss,

D.JT0! Uag! ATel

D.None of these
D.ot 2 (255 == e O

Answer: C.RY BT 3Td 3101 GiTerTIT 318,

C.Square is a rectangle and polygon
C.= s 08ds ) debiins 5555,
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Answer:

43

A. (A)

B. (B)

_ fofore IumHNTST WU 318,

is a preference for a particular activity.

- = e A g ol SAlS pala s

A.3[ds
A.Interests
Aol

B.®I
B.Skills
B.ofilk

C . goiRiterdr

C.Creativity
C.alas

D. & cUdhdl
D.Imagination
D.s=s

A.3flds

A.Interests
A Cbpaals

GET IT ON
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Answer:

44

Answer:

45

YT U] fiw g U 3T °dHT Hlard aled ATel. RIar STy HRIER YuT 3TgTd 0¥ tRd dad A
SUgTTe!. St AU ST T HeH AT ¢TI 1 HATd BHIdId. U HITHTd rTh g
Fol YR S TAERTE! SUEHT HRUMR?

You have no hitch in borrowing money from your friends. Moreover you are popular not to return it in
time. Sometimes you do not spare even your very younger colleagues from this act of cheating. What
type of monetary behavior you will expect from them in future?

b e o e a8 5 Gl p iyl ) e sSle, Gt Saen S8 S ol e Sl i s iy
8 50 i sie magy llbe LS i ) (e Jiilane - 5030 (i e 5S Ol sen i) e dae ) S (03 AS 580 o S (e

A 31T CATOTEaTor 9aTd 39 U Yax Alddad

A.Sweet relations based on monetary exchanges
Al e ey s Sl

B. 30T g1l TS MUY U A8l AUUIR

B.You hide your own face due to guilty consciousness
B.ow Shes S ol S o v S ol dlajaa gl

C.3TT0T 312 3{0e el fob ST Ardol-a fedmToft Hivfigt 0% oy 72
C.You expect that nobody should ask about his money in public places
CR eamu S —an S8 nusds e S i (SO

D. 3190 Wd: a1 GYRUATH] U e =TT S0 ST Ui HT THE0R,
D.You try to improve yourself otherwise your prestige will be at stake.
D& Ly sl S5 1S il i pg oS GRS S (S iy ip S ol il o

D. 3190 W1 YR Ud B YT S0 ST UidHT THEUR,
D.You try to improve yourself otherwise your prestige will be at stake.
D& Ly sl S5 1S il s oS (RS S (S Sl Jip S ol 2l

I oo waiaiEe ove o e,
DIRECTIONS: Choose the odd one out from the given alternatives.

iy S 5 o o oo e K
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A.SBeTZ
A.SBeTZ
A.SBeTZ

B.KDuVB
B.KDuVB
B.KDuVB

C.DXiGR
C.DXiGR
C.DXiGR

D.PSbZT
D.PSbZT
D.PSbZT

Answer: D.PSbZT
D.PSbZT
D.PSbZT

46 T gt g Ay 3Mme Sit feiae Aegult 3irg. Xdi=r g ifeear forar g, it feiidan vawig urss
3. W fexiaaied Ard B2

Swati is mother-in-law of Vahika who is sister-in- law of Dishant. Raveesh is father of Ronit, the only
brother of Dishant. How is Swati related to Dishant?

LS o il 18 (s, o ler 2al 5 8 il sa e o QLS i) gy o e oS ildn sa o el (S0l 5 e
?cf*li‘J

AR
A.Mother-in-law
Aol

B. 3%
B.Aunt

Bl

c.udl
C.Wife
C.csm

D.3M8
D.Mother
D.Jl

Answer: D.x’rl'l'sc
D.Mother
D.J
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47 T ool ufvwse o sxuamret, @rel e (P), (Q) (R), (S) AIfUT (T) B UTd A Iy SfIeh M

QAT BT, AR AT Wi ST .

P. G T Fiffdd fop, <t fearemd TRt s 38 HRUI AT 31 gHS giad.

Q. AaHd ZaTesT Yo e 301 AT diSdTd ST 3F SUds egd, dR Gl el 39aR
TRedTd HeTd 3f1Fig Ud gI.

R. U TRATDH S TR SIS HUNY U3+ SITUM=AT GT UTgH, I HoR Hg-Id HRUITUE
IR HISTHOT FHRUAMIS! Abared Giidr Siaraa.

S. TR Y AThISl TN G IAHMBIS THTAT ST fgareTs feidl HRIar gat

T. A1 U 3fia) f[aas gidT TfO1 ATdhare] 1, Arad e arTsd gidl.

TTEA R WIaaud! HIo arad drd 3ra?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The ant tells him that it is preparing for winter when food would be scarce.

Q. Winter soon begins, and the grasshopper has no food to survive, while the ants enjoy the corn in
the warmth of their nest.

R. Upon seeing an ant carrying a heavy corn kernel to its nest, the grasshopper asks the ant to join
him for some fun, instead of working hard like that.

S. The grasshopper laughs and says why care for winter when the present is good.

T. It was a pleasant day and the grasshopper was in a gay mood, singing and dancing around.

Which of the following should be the FOURTH sentence after rearrangement?

ostex @b O iUy (P)e (Q)¢ (R)¢ (S) ush (T) sl =8 2o 2 Jag e imad i Jiojbgs ) S 3l )y Gea b S
s S

P. So oS S DS o o) Sl ) S Gam 55 S LS a5 s,

Q. 0 e a8 (S il il 13e Szl (ign oS G g UleS Al S s S I3 5 508 2w o a
ot

R. o S Cine Ciduace S 1 3e gl SO AS LS ol o S o) s LI S 20135 ) e S LS il a
=

S. = lude lep) Sy sila i (S 0sS S88 (S 53w LS ) e 35,

T L gl sl U gh (isa gy 13850 Lgd 0 Leal g,

§ s Uis Lo alaa L S 2 S 0w i jlago

A.S
A.S
A.S

B.P
B.P
B.P
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Answer:

c.Q
c.Q
c.Q

D.T
D.T
D.T

A.S
AS
A.S
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48 T iUl U Ffor Hroarret, @re faaet (P), (Q) (R), (S) 30T (T) B U a1e’ arg SfIehdM

TAREHT R TR ATdrd 9! SR .
P. 4= e wiffida fop, ot feareall TRt #xd 3ig HRUI dagl 3 g gied.

Q. TdHd fgdTest G T SNf0T Arehdrsaral SRTUATT! 3 JUdsd A, dR Gl U §GR

TR HAMT 3¢ Ud gl

R. U] TReAdh s HRITAT SIS BUNY T ST w1 UTgH, a=il HER Hg-Id HRuarign

S. TR YT AHdIS] BUITE HHTHT JAHHDTS TN ST fgdTeadTa feidl HRITe gat

T. I T 3iid} feaq gian 3nfr Ararst T, Ard 3fHeM SFTSd gidl.

JRE HIHdR WU HIUd e Urad $a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence

to form a meaningful paragraph; then answer the questions given below them.
P. The ant tells him that it is preparing for winter when food would be scarce.

Q. Winter soon begins, and the grasshopper has no food to survive, while the ants enjoy the corn in

the warmth of their nest.

R. Upon seeing an ant carrying a heavy corn kernel to its nest, the grasshopper asks the ant to join

him for some fun, instead of working hard like that.

S. The grasshopper laughs and says why care for winter when the present is good.
T. It was a pleasant day and the grasshopper was in a gay mood, singing and dancing around.

Which of the following should be the FIFTH sentence after rearrangement?

ostes @ o 1l (P)e (Q) (R)s (S) ush (T) osllsm 8 20 2 e e Smd i o gy A S |y ima b S

s S

P. So oS S S o o) S ol ) S am 55 S LS ol 5 s,

Q. 0 Aot o8 S misel il 13e AS Ul Jien oS o g (i UleS A S _n S35 8 0 550 g m o A
.

R. v S Cine G K30 gile SO AS LS ul 50 38 o s DU S 200 15 Sl (Fes S LSy o) oa
=l

S. =L dr leal iy puala a8 (S S8 (S 5 m LS ) Alaa 135,
T L by gl sl U L Ghd o 135 )50 W 0 Ll o,

$ s Uigs o gaily alea La (0 5€ 2ay S 30 G yio Jluso

AQ
AQ
AQ

B.P
B.P
B.P

CR
CR
CR
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D.S
D.S
D.S
Answer: A.Q
A.Q
A.Q
49 Fill in the blank with the correct article.
| studied French in high school for four years.
A.a
B.an
C.the
D.No article required
Answer: D.No article required

50 SR 60 forHi/am Tt SITctal ¢, THTET 30 VhaHe UR HRd S, dR T ¢ aidl (HiexHe) Hial

If a train, with a speed of 60 km/h, crossed a pole in 30 seconds, the length of the train (in meters) is

= (e i) Gladd (S 0 F 5 SIS ateeS Sl 20 B8 30 ¢ 8 (S iR [ e 5K 60 ¢Sl Rl

A.1000
A.1000
A.1000

B.900
B.900
B.900

C.750
C.750
C.750

D.500
D.500
D.500
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Answer: D.500
D.500
D.500

51 G IHIRYS A - T GRITeR STIOT FHH FHIOR G 3N 3115, ATl &b d UIRR:
Two parallelograms stand on equal bases and between the same parallels. The ratio of their areas is:

el S dle S oo 2 56 Oleun S G0l sie ond ) Uit il n g Dm0l sie s

A1:1
A1:1
A1:1

B.2:1
B.2:1
B.2:1

C.13
C1:3
C1:3

D.1:2
DA1:2
D.1:2

Answer: A.1:1
A1:1
A1:1

52 3Ot Tt T 0T rqated faamafaad a0 & JRTIR?

How would you deal with gifted students in your class?

AgedM d I fagmatardt o AR I RoT §-drd

A.Develop apathy because they become the source of frustration for normal ones
Ace o o S i o A S gmmale o SsS K S lay ms) 2 pm

B. T Sh B I TSIUITAT Iford HRUR

B.Try to motivate them to achieve at par excellence
B. S (S (S (S 8 A Alass (S o) A S S Jeals Ko SIS
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C. AR &Td TS+ SHUR BRI d SR G faaRard
C.Have a jealousy with them because they ask intelligent questions
Coop s dlsw Omdos nSaissS Ui aua il S0

D T [MSdTe FRIGauiTd 79 FROUR 9 FHT TIHRINRG §q0aTd Td HRUMR.
D.Engage them in class-room teaching and forcing them to be the commoner.
D.on 5680 Gigman (e S8 e gy i el ple gl 5 S ol (e a3,

Answer:  B.JMI 3P Fd IR HSIuIRITST ITford HRUR

B.Try to motivate them to achieve at par excellence
B. S S (b S (S S8 G Abass (S ol A S 8 daals (S0 SIS

53 TifeTer a1 Yeam favardf W Hiomar 2

A TR
B.3WY¥

C U= YUIRT
D.W¥

Answer: D. gy

54 R UGS RIAT SO S faaHwad F6HR0 YR HfRTAd TU HRUTd At

A personality characterized by proneness to depression is classified as type personality

S S sk S cwads S Cue i S (53 6 0 (S padd SOl S S (i3

AUDR A
A.Type A
Ao) QG

B.UPR B
B.Type B
B.

CUHPR D

C.Type D
C.e5 il

D.USR C
D.Type C
D.oxe
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Answer: C.U®DRD

C.Type D
C.s8 il

55 faeiell srgeaad : g + Sfor +, I 3dhs 2 M5 ; W18 +6x3+2— 5 oI fobit 2

Given interchanges: signs + and +, and numbers 2 and 5; then the value of 18 + 6 x 3+ 2-5is

=i (S5 -2 +3%6 + 18 5545 5 2 s sl o+ sl + e ;s K

A.12
A.12
A12

B.14
B.14
B.14

C.16
C.16
C.16

D.18
D.18
D.18

Answer: A.12
A.12
A.12
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56 T iUl Ui fFHafor Hroarret, @ et (P), (Q) (R), (S) 30T (T) B U a1e’ arg SfIeh M

TAREHT R TR ATdid 9! 3R I,
P. 4= e wiffida fop, ot feareaaell TRt #xd 3ig HRUI dagl 3 g gied.

Q. AdHd fgdTest G T SNf0T ArehdrsSaral SRTUATRTS! 3 JUdsd A, dR Gl U S§GR

TR HAMT 3¢ Ud gidl.

R. U] TR HRITAT SIS HUNY T ST w1 UTgH, a=il HER Hg-Id HRuaTugn

S. TR YT AHdIS] IS HHTT FAHHDTS AT ST fgdTesdTa feidT HRIe gat

T. A1 U 3fiH<! fGa giar Sfdr ArarsT 11, Ared e drTsd g,
TRAH HedHaR WTaadd! HIvrd arad oy sy

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence

to form a meaningful paragraph; then answer the questions given below them.
P. The ant tells him that it is preparing for winter when food would be scarce.

Q. Winter soon begins, and the grasshopper has no food to survive, while the ants enjoy the corn in

the warmth of their nest.

R. Upon seeing an ant carrying a heavy corn kernel to its nest, the grasshopper asks the ant to join

him for some fun, instead of working hard like that.

S. The grasshopper laughs and says why care for winter when the present is good.
T. It was a pleasant day and the grasshopper was in a gay mood, singing and dancing around.

Which of the following should be the THIRD sentence after rearrangement?

ostes &b o) 1@y (P)e (Q)¢ (R)¢ (S) ush (T) ushlsws =8 23 2 ey ¢ Jmad i i Jlsd A Sl |y giee b S

el S

P. So oS (S S o) S ol 1 S am 55 S LS a5 Jues,

Q. o o o RS i ) 130 S U iea NS Gon g ad U A S _n 135 (K 50 558 53 ym o s

-

&
R. o 3 S Chine ity S 1 gilas SO AS LSl 52380 o ayla _JU S 20015 oS0 e AS LSl o
= .

S. 2 bods leal iy puala a8 (58 S8 (S 53 m LS o) o 135,
T. Ll gl sl U Lt G 1855l L 00 Ll o,

Sl U pmdalea b S 0y S S ap ol

AP
AP
AP

B.Q
B.Q
B.Q

C.R
CR
C.R
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D.S
D.S
D.S

Answer: A.P
AP
AP

57

Answer:

W ISy Bl 3Me

The capital of Spain is —

il (S

A ST

A.Barcelona
Absh b

B.HAlcE
B.Madrid

B.3 3w

C.3mafasT
C.lbiza
C_\)':g\

D.3fcglsl
D.Alhambra
D.s) jaall

B.HIfag
B.Madrid

B.3%

GET IT ON
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58 I TEHR! AT HBH G WIc Sl U ST Hal g I aRFHT SUBR oo G- Hal
SATEL. Fd BT et HedAT1 g U0l Al [ il siad ATe. & SHdm HaRur Sgur w1
PRUR?

A colleague collects money from his juniors on pretext to oblige the superiors with precious gifts etc.
All juniors know but cannot revolt against him. How could you find a suitable solution of this problem?

A S el S o astae S )i alai . o US mas iy e Do ) A S 0 (ailaS el S () el gl SO

¢ U Jo S U ania 1S ia Gl S L 50 S e sl
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Answer:

59

Answer:

AT 3T T=RTTaR Al $HRd 38 § MU THETd I ATl F&-1HT FRUR
A.You abuse him in a group as he is enjoying your money
A Us b s s Gl e SQles Son G 58 JN (S Gl e s 8 Sl

B.dl S HTE! I 38, I WABTAR § TTel THSIg I
B.You preach him whatever he does, does it independently
B.o S oy osh Al o5 o US e eaS sn il NS on e Sl

C. AT ST ¥dd: ¢l ¢} SAUR
C.You keep yourself alert from his dragnet
Coon 68 D wdasay Sl Sl Gl

D. 3(TU0T 1T FATUIR O ARTO § U UehIRe UTY 3TR.

D.You tell him that begging of money is a sinful act.
D.-m oS 18 ol Sl L&Gla sy w8 il )

B.dI Sl HT8! IR 3], I WEBTAR § ATel FHOIG i
B.You preach him whatever he does, does it independently
B_L)S#J}LA‘J\J]D}CT\L.})SGH.@%S}%CN\/\Suﬁcsw&jsw‘kTJ

R foet fe foig srqara?

How many distinct points lie on a line?

?U:\T\C.;}:I muh"\)gulm'“ ‘fﬁ)ﬂudy;iﬁ

A.3(FiG
A.infinite
A Slie e

B.Udh
B.one
B.<l

cam

C.two
C.)J

D.dH
D.three
D.os

A.3rafe
A.infinite
Al e

GET IT ON
Google Play
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60

Answer:

61

GET IT ON
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S TReiT TTd! 16 T8 SATIOT ATl a¥Ta! 160 3HTe. SR Ueh TRSAT 32 3d, TR GuN! ST B 3Ra?

The HCF of two numbers is 16 and their LCM is 160. If one of the numbers is 32, then the other
number is?

§ = i ) pusd e 5 2 32 i Sl e K1 2160 & oo B S O Dl = 16 Gl o gl S U g2

A.48
A.48
A.48

B.80
B.80
B.80

C.96
C.96
C.96

D.112
D.112
D.112

B.80
B.80
B.80

e ded fadr SRR Aed?
Where is the “Willow” of the cricket bat derived from?

© o U LS dala s (LS S0 S S &S

A SUGAEHTT Udsie! 3RUY
A.Tropical Deciduous forests
A, s (i S5l 5

B.3= Usig 3RUY
B.Heavy Rain Forest
B. K UL sle

C.udsrs! 3RUg

C.Deciduous Forest
C. Kia (il
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Answer:

62

Answer:

C. (C)

D. (D)

C. (C)

D. U4 3RUg

D.Mountain Forest
D. s (il

D.Udd g 3R

D.Mountain Forest
D. K ozl

GET IT ON
Google Play
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63

Answer:

64
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TH Y1 G fordl aviies § 100 U&T HHT 3MTg, < TS Tt e 3Rd

The square root of a positive number less than 100 will be between these numbers

100 Bt oass S el g &) e 1S 30 il S oS

A.0 30T 1000
A.0 and 1000
A.0 1000 L3

B.0 30T 10
B.0 and 10
B.0 10 L

C.—10 3Mfor 10
C.—10and 10
C.10- 10 3

D.—100 3101 100
D.—100 and 100
D.100- 100 !

B.0 30T 10
B.0 and 10
B.0 10

G feretean yargiHys THreiT Res s,

YATHIeET Aot dUHMTRIISET 3iTe ST BRASE e ey . Aad 318,

DIRECTIONS: Choose the analogous word from the given alternatives.
Thermometer is to Temperature as Rhysimeter is to
oS clamy) 1S Laal 3ilaa — Jaliia C‘g = bl

e 1S e ) S L o o bns g8l Sl a B5 1S e g0 545,

A.Feftre gremaret

A.Rhythemic movements

Al Sl Jls S

B. 91! Ol

B.Density of gases
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C. =T A
C.Wind speed
C. w8, Sy

D STl darict
D.Velocity of liquid

D. L, S b

Answer: D.&dT! dare
D.Velocity of liquid

D. L, S Sb

65 ot It 31for R i dTeidad YehdR, 4 gdRT 2005 Ui WIoRT dbell. AT dRI d Yedl dleicad
St GoRT HRdIe?

Mr. Ravi and Priyanka celebrated their anniversary on Friday, 4 February 2005. When would they
celebrate their next anniversary on the same day?

¢ 8 e S 0 ol o 80l il 05 55 ¢ lie S 2005 558 4 S aren o Sl il 5 ) 5y i

A.2009
A.2009
A.2009

B.2011
B.2011
B.2011

C.2015
C.2015
C.2015

D.2010
D.2010
D.2010

Answer: B.2011
B.2011
B.2011
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66

Answer:

GET IT ON
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I : el YD GYTd & faem | 3107 11 fiGae 318 d. & fau™ Udhdr Tad RO 3Ry KhdTd fdhl
AT HRUMY TR 31 YhdTd. Jite! Te faU SR faemman uRomm oy Wl il faum arr snfor

WAUD! HIUIT ITRIET Ui 7 &gl faumHed Yo guiH Har d a3l

ICEIGE
|. SR THTS TATBHRIG! Aig HRUIN galTed B,
11, ST S ST 3RIY HR0 BR A3 MY 318,

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer

choice correctly depicts the relationship between these two statements.

Statements:
I. The society discourages reporting of rapes in a country.
II. Victim blaming is very high in a country.

Sl 53 e s o 28 1 | o9 11T 551 Sl o 8 00 -0 S5 5 1 S Slsas 331 e b s 313
O QA S Qa8 R 0 28 S (S abead gl a5y lil (g o S 50 SIS & uasd (Ol S s (e il

= US s Saed S Gl e )y S Sl g gige

Sl
| — = US (S Ahasa (S 558 sy 58 G (Bl g e She S
I - el 0 LIS a3y a sl e oSle Sl -

AfIUT | HRUT 3118 ATTOT faem 11 = gRome Sie;
A.Statement | is the cause and statement llls its effect;
A g ] i gl oyl 2 a1l 2 1S Gl

B.faem= 1 SR 3g 3o ey | e uRume 3ng:
B.Statement Il is the cause and statement | is its effect;
B.ow g Il s g sl s |- =2 AV IS

C.fayr 1 3for 11 G Tadd HRU e
C.Both the statements | and Il are independent causes;
C.omi Glily Gsisa | sl ) ] - Slsa s o)

D.faym 1 3n1fn 11 S e HRUI TRom SR
D.Both the statements | and Il are effects of independent causes;
D. i by isa | e sl o I3 S Clisa s 3

B.faym 11 HRUT 2R 3fr faem | e ufkom 3R

B.Statement Il is the cause and statement | is its effect;
B.owd g Il i gl o) s |- =2 A S G
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Answer:

68

Answer:

TTeTete! Yg e HI0Td 2

ATHerd fad SR HIv &) Burd 2
B.paheldl fad aR HI0T 1! Tg0id 2
C.pdhc fad SR &I 9! Uifgsl Boid ?
D.Bherd fHesTel TR I 7! ol ?

D.Pacr @ @R HIU ] Toid 2

SR fASTUg TRETUT HRUATTST HIvd IS aruRdTd?

Which device is used to protect building from lightning?

§ o Ula LS Jlenin) 1S il 55 S A S ey o Slend S @l

ABIHHIC
A.Chronometer
A Siesis S

B.TAHIHCR

B.Anemometer
B. i sasil

C fagad are®

C.Lightning Conductor
C. SIS 8 Loy o

D.foeR

D.Pyranometer
D. e sl

C fagad a®

C.Lightning Conductor
C. IS8 Loy o

GET IT ON
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69 feie RTeQTURI WTelld XGUdh! IV Xeg TIR Bl SIS, Jebvd ATal?
ARCHITECTURE

Which of the following word cannot be formed from the given word?
ARCHITECTURE

‘ARCHITECTURE’

ATACT
ATACT
ATACT

B.CHAT
B.CHAT
B.CHAT

C.TORCH
C.TORCH
C.TORCH

D.RICH
D.RICH
D.RICH

Answer: C.TORCH
C.TORCH
C.TORCH

70 foraT = HRUarITat fdvan quf SHroamret sierit=y Sfor Qe A wgor —

Apathy and mability to start or complete a course of action

Caadia 55) (S S S Sl S g s S el S

AR Y5 UHIT

A.Flat effect
A Culd

B.3aIRA
B.Depression
B0 s

C. 3B IBIH
C.Avohtion
C.odsll
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D.3{AR
D.Alogra

D.) S5

Answer: C.\H@'&'QH

C.Avohtion
C.oisl

71 T ool ufvwse o sxuamret, @re e (P), (Q) (R), (S) SHIfUT (T) B UM A Ig SfIeh M
AT T, AR ATed Ui ST .

P. G T Hiffdd fop, <t fearemd TRt #xd Mg HRUI AT 3 gHS gliad.

Q. daHd Rarest Y& el 301 AT diedTal SRTUITST 3d SUds egd, dR Gl el I9GR
TRCATd AT 3¢ U giel.

R. 3O TReATh S HHTAT ST HUNY S ST G UrgH, a=il R Hg-d Hrugrief
TS HIoToT HRUGRITS! ATdharadT GHiar ararad.

S. TR Y ISl TN AT JAHHDBIS THTaT ST fgareT! feidl HRIeT gat

T. Al U 3fiH<l feaq giar SMfor ArparsT id, Jed 3He IrTsSd gidl.

TREAT HedHR WIeiiade! HI0d arad gar SRid?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The ant tells him that it is preparing for winter when food would be scarce.

Q. Winter soon begins, and the grasshopper has no food to survive, while the ants enjoy the corn in
the warmth of their nest.

R. Upon seeing an ant carrying a heavy corn kernel to its nest, the grasshopper asks the ant to join
him for some fun, instead of working hard like that.

S. The grasshopper laughs and says why care for winter when the present is good.

T. It was a pleasant day and the grasshopper was in a gay mood, singing and dancing around.

Which of the following should be the SECOND sentence after rearrangement?

osten =l o) 1@l (P)e (Q)s (R)s (S) us) (T) ushsm =8 0 i jen ¢ iy qasiyioJlsa A Sl | w e by S
s S

P S oS S eSS n o) S 0 S o ym 55 n S LS il o Hues,

Q. 0 A e o 8 (S il il 13e AS Z U es A8 n gl pd UleS 3 S i S35 (S 5 508 2 m 0 s
&

R. o 58 Chine Cidase, S 1 3e gl SO ASLS il o800 oy la IUI A8 2l 13 0SS hS LSl
= el

S. = ludaleal s pals a8 (a8 S8 (S LS ) las 13,

T L by gl sl W& L Gid o 138 5) W 0 Ll o,

e U g aden L g8 2 S 3y yio gl
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Answer:

AR
AR
AR

B.T
B.T
B.T

C.P
C.P
C.P

D.Q
D.Q
D.Q

AR
AR
AR

In India, the first train ran between

Sl O S Sl A e o Sle

ATTS

A.Bombay
A. b

B.falt
B.Delhi
B. o

C.Helal
C.Bathinda
C. g

D-ANCARI
D.Kolkata
D. ~Sd <

ATSE

A.Bombay
A. b

GET IT ON
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and Thane.
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73 I WTAd Ui e yafaiayd e siaR/=Tse/Re FasT.
g ; Ridt = 2 JdR

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Dress : Tailor :: ? : Carpenter
wﬁuﬁuw/kﬂ/uyﬁhl«:»d)h’u:ﬁda‘uyd\ydyﬁ;)mclm.u

TR NS B R a

Adids
A.Wood

A
B. R

B.Furniture
B. a8

cIMHS
C.Leather
C.\ 5

D.hlUs
D.Cloth
D.13S

Answer: B.HR

B.Furniture
B. w8

74 WTeiid Ut eiord gut ot ATgl?
Which of the following is not a perfect square?

§ 2 O e S ) Sl S (e i) A2

A.49
A.49
A.49

B.144
B.144
B.144
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Answer:

C.529
C.529
C.529

D.51
D.51
D.51

D.51
D.51
D.51
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18 AfGE TP w1 12 feawia snfir 12 Ty ad & 9 Gawid guf Fxard. dd H@ 8 TV 1T 8 Afgar

focht fgawia gul H= dhdia?

18 women can complete a work in 12 days and 12 men can complete the same work in 9 days. In how

many days will 8 men and 8 women complete that work?

18 oS Gl Ui yse 8 sl (o 8 -0 58 daSe ae (0 9 S A8 ol (el 12 ) G (5SS e (2112 S A8 Sl iy 50

8 LS Jee (e (s S S

A9 fead
A.9 days
A.900

B.6 fad
B.6 days
B.60»

c.12 feag
C.12 days
C.1200

D.8 faaq
D.8 days
D.8u»

A9 faag
A.9 days
A.900
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Answer:

77

¥. 56 T A& [dsh] DH&e [HBUM=AT TR TdhaR] gl <l slegl . 42 1 fadhell S @ fawe 3B,
CESCIRCREHRE R

The percent profit made when an article is sold for Rs. 56 is thrice as when it is sold for Rs. 42. The
cost price of the article is:

RS e 5542 s o U eal ) IS (08 s a0 s Gl 5 e (SR 8 (e s BB o 5 S
JERRCIVE: JUK K SRR R L PIIS AN

A>. 28
A.Rs. 28
A.Rs. 28

B.%. 49
B.Rs. 49
B.Rs. 49

C®.25
C.Rs. 25
C.Rs. 25

D.®.35
D.Rs. 35
D.Rs. 35

D.®.35
D.Rs. 35
D.Rs. 35

TYTITS! T Weilel HferdhT gof ..

AG, Cl,EK,GM, IO,

DIRECTION: Complete the following series.
AG, ClLEK,GM, IO,

-0 S eSS e dd aa pdieicly S s
AG, ClLEK,GM, IO,

AKQ

AKQ
AKQ
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B.HS
B.HS
B.HS
C.RI
C.RI
C.RI
D.PO
D.PO
D.PO
Answer: A.KQ
A.KQ
A.KQ
78 27213 < Yo =NYT?
Find the value of 2723,
Kndals 272/3 8
A5
A5
A5
B.2
B.2
B.2
C.9
Cc.9
C.9
DA
DA
DA
Answer: C.9
C9
CcJ9

79 ‘I FARY U WS, T IR [aRIN0T e,
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Answer:

80

Answer:

AT
B. SR
CUH

D.4I$

B.§ARH!

e8I S T 95 g1 Jehdld-

In attitude change the change can be

= S g has (e o (S g

A THHA 30T faiTrd
A.Congruent and Incongruent
A e e 5 38 5

B.UHCIRIP ST SgiGRMGRIP
B.Unidirectional and Multidirectional
B. e S ) Sew S

C.gg 311for fawe

C.Simple and Complex
Cooxan ysl e

D.JT0%! Ut ATel

D.None of these
D. b &S e O

A.THGHM 0T fq8TTa
A.Congruent and Incongruent
A8 e e 5 (38 5e
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81 T WIeitd ATfgd! dlodd ardl ST WTelid gyie 3w o
S Ird ufaffe R, i, S, Ao, 7R, aref 3o Aifga i dmaTe i N, O <= 3mRd
Zféror 3nfdheeT, Sifecforar 3nfdr =y, iaTie! TS 3edsaredl daTTeaT feasht Targ el (HIurdTe!
G el UbTd fGasit Uar a1l IR URgH J3aTd 6o, AGdR] JaT . fbar giH
Mol YD SR TaTd el SO Sf&01 3hehT 8T Udhdl ST <= giell f1Y afi dliep el
IR SI&0T Sfihor AHaRT . Urd Sfiee ferra Iar qor df 1 Fiesar] e =1 [HaRT 7iar. difga
FGART T O Ot STyl TIa HATel. St ek ST erara et foe HiedRt Ward el AT St Thr=aa
el fom ARt var e, TRAM gyaRt Udry Sl Rar afaror sfthde et uur TRt et Aral. e
THT=aT Tielt ATaY.
SR UddTt ¢ TohT fgadm ge Tielt, aR JUdRY I Yar dhea?

DIRECTIONS: Study the following information carefully and answer the questions given below.

Seven representatives of a company — Sagar, Nilu, Reema, Shweta, Garima, Parth and Mohit
travelled to three different countries i.e. South Africa, Australia and France. Each of them travelled on
different days of the week (no two persons travelled on the same day), starting on Monday and ending
on Sunday. Minimum two people travelled to each country and South Africa is the only country to
which three people travelled.

Sagar travelled to South Africa on ‘Monday. Parth travelled to Australia but neither on Tuesday nor on
Saturday. Mohit travelled on Sunday but not to France. The one who travelled to Australia travelled on
Tuesday and the one who travelled to France travelled on Saturday. Garima travelled on Wednesday.
Reema travelled to South Africa but not on Thursday. Nilu did not travel to France.

If everyone’s trip is postponed by one day, who will be travelling on Wednesday?

o Sl SOl 8 0 2w s iy e glad S Slagles b aa ptie iy

03 Ll Sl ey 81 g ey (e il 0 3 Cuse ) ) elay 8 by by sl Blu — il il S S S
oadd 50 (uS) LS i (e sty aline SN S SR S gain ol g sl e pm S e e OF LS A6 1S (il i
SoRS S g o Sheaals B asia sl LS Hiu IS Sha S 5o 08 5068 e S (LS (g i 3 2 Sl S
1S i

a0 S i o as) S R 55 A3 S LS i S Lh ST gl S i S A8 8 sin (0 Sy S Rl
5 o 1S e 1S 8 5 e ) LS e 5y S IR 5 (ol 1S e IS U AT 5 o - S a3 K LS i S )58
Dh S il gd 3 b oS il pmen (SIS i € 0 81 i i ley) LS i San le LS jiu o S jaaie S
R L S i S San sl pssile ) S oaesy) i ISS R

AT
A.Parth
Ak

B3

B.Reema
B.L

cHlq

C.Nilu
C.sks

D.TIRHT

D.Garima
D.l £
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82

Answer:

83

cHiq

C.Nilu
C.sks

GET IT ON
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A, B, C. 30T D ACAT IR HThcdl fGedm 3Ted, AT Feafesr=l (?) STET UM D133 30T el

hlcl.

Choose an appropriate figure from the four numbered figures for the place of the questions mark (7).

Problem Figures Answer Figure

T HTFear ITRIRTS GATdT ATFear

psbai oS0 Juns rgai oS gz |

A ok ® NI
l . A B C D
A. (A)
B. (B)
C. (C)
D. (D)
D. (D)
7 31107 28 <41 Hefiel YRTART YT fobit:

Mean proportion between 7 and 28 is:

7 = el adbieya gl )y S 28 )5k

A17.5
AA17.5
A17.5

B.12
B.12
B.12

C.14
C.14
C.14
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D.16
D.16
D.16

Answer: C.14
C.14
C.14

84

GET IT ON
Google Play

DIRECTIONS: In the question below, select the related figure from the given altematives.

_LH.J'S AT g a‘-[_l';.JJia EaRgTURYY ulei.Ln -’_':_’f < 83 i s ._Jl_g..ul . 1 JJ_} :r.'_'.J'I..I_IJ-ﬂ

Problem Figures:

Answer Figures:

®

O

Q)

&

N -U] ?
(A) (B) (C) (D)
A1
B.2
C.3
D. 4

Answer: A. 1

(1)

(2)

(3)

(4)
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I Wl fEaedn UHTd Ues e $i1g AT | 31707 11 3R & Feh s el Sifdhd dhaiat Mg AT SR

gatd Irg iy fRast.

faeam

W:Waﬂahﬁﬁmwémﬁﬁwéﬂ&n%

fsp;
|. AP RMBTT YRATT TUH YR STer.

II. BTG JRATd HRURT HR 8T SIS Tard JoH <=7 g,

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and II.

Based on this choose the option that is most suitable.

Statement:

India is one of the oldest democracies in the world.

Conclusions:
I. Democratic practices started in India.

II. India was the first democratic country in the world.

g0 amy S Ol Sl Gae Jlgm 8 s a1l | gl 1] - S QA 1S A G50 Sl by S Gl oom 8

ok
o S s e ) e aa s o e i LS,

=
s el 1S il sy s span e LI
. 3 Sla (5 span Dy 1S Lia L3,

A Fdes At D | [IUFRT S ERe 3R

A.Only Conclusion | follows
A~agii Cipa | 8 o KY

B.a® Y i || UM e 38

B.Only Conclusions Il follows
B. ~xii Gy || & 5 &Y

.y wHi | fhaT Il SrTeRe 31

C.Either | or Il follows

D.PIUrare! sy srae el
D.Neither | nor Il follow
Dl os 118 5 SY e B5S —w 0e
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Answer: D.ﬁ'UFI'ITsﬁ fAep e :l'IEOI

D.Neither | nor Il follow
Dol os 118 5 e AY o0 BsS wne

86

Answer:

AT WTdtd wiHe e yafaiayd e sier/<rse/Re Aaer.

TRH g8 ::

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

Hot : Burning ::

PACENEP

A3 : faeay

A.Fire : Destruction
Ats: S

B.g® : T30l

B.Error : Omission
B.Ss> dser s ld

C.dIC : AT

C.Wave : Tsunami
C.@U}w . JA

D.Siagex : I
D.Doctor : Disease
D.cslan 1 XI5

C.dIC : g

C.Wave : Tsunami
C.xligm 1
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Answer:
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SiegT SHTYUT JgTes! eTd STUeT Ui =1 Herddl ST, el AT STUul Aiedlh g Hue]

rAdh T SUEHT HUMR?

When you visit your parents in summer- break, what type of elderly behavior you will expect from them

with regard to children?

B S ) ) (S e S Sl e ade S (sa 8 eom e pally ) e Ui (S b pmse

S

A YdDTeBTdIe TSeedl ST HIGAT a1 FRTete

A.They will tell them the past reminiscences with pride
A S Gl @l S A 0l (S ol el o

B.d T S1Y®UT gRTdA

B.They will tell them moral stories
B. =S wilivs JLilS (BA) (il o

C.d YT AT HIG SIS el Jauiaed qrTdrd
C.They will tell their struggles in rearing of their children
C. =S il e o Jb S Chine ) S Qom0

D.d 3 WifTdedydT0l Haedrg! Moldgd e HUIR.
D.They will tell anything as mentioned above with humor.
D& o S S3lal3e S i ogr (oS s 3o Wb oy Shan,

D.d 3d WifTdedTy 0l Haedrg! Molagd e IR,
D.They will tell anything as mentioned above with humor.
D& o S S3lal3e 8 i g (oS s 3o Wb o) Shan,
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88 YT TS URATA Ueh Y@ faURied IR fau™ 3igd Saf=arare! A, B, C 30T D 3/ 9R faum
3{TRd. HHAR faem SISt st Same wyd faum ga=n faumrer gaad, snfir 3t faum afbeesen
g faumred Afed s,

e TR JHfes fohar Taw SR,
A. fFge JHfes 3me.
B. fErue Jwfes g
C. 81 TR fIaue 3nmg.
D. 81 TR iAue gl

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The movie is either romantic or action .
A. The movie is romantic

B.The movie is not romantic

C.The movie is action

D.The movie is not action

S 0sdes Shuie gpand o K uwal S 63 ) e o) laa Jla an S o alaa Sl e Jlse e il
op Githe S Ol S e ihie ea g3 sl by Se Ll Ho) (S ales o g alea Sy (b - ia

S b o Sa g b pld g
A Syl

B = L STy alé

C s a5 o .

D= o 055 o8

AAC
AAC
AAC

B.DA
B.DA
B.DA

C.CB
C.CB
C.CB

D.AB
D.AB
D.AB

Answer: B.DA
B.DA
B.DA
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89
A. (A)
B. (B)
C. (C)
D. (D)
Answer: D. (D)
90 I feeien warameE ofe o Ader.

DIRECTIONS: Choose the odd one out from the given alternatives.

L S5 o o e e K o

Allg
A.Wheat

A.osS

B.gXHI
B.Gram
B.lua

C.HId
C.Rice
C.ds»

D.AY
D.Honey
D.a
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Answer: D.AY
D.Honey
D.ak
91 462 B THT UhT IAAT 42% 35, AT HTIA?

42% of a number is 462. What is the number?

Ky LS et 462 < 42% \S i oS

A.900
A.900
A.900

B.1000
B.1000
B.1000

C.1100
C.1100
C.1100

D.1200
D.1200
D.1200

Answer: C.1100
C.1100
C.1100

92 SR T T ESRRT SldtaR fmue Tuvai Sgdh SRIdTd, STl AT ST SRt GieduiR?

How would you solve the problem of your child, if he takes extra-interest in late night films on TV?

§ 8 S da S S O (S Gl 5 U alds ) e g sald (S g S g s A ST R

A 3{TTUT GATel Al W e 63> fob I3 SRRT SIS H13T [MSd ATHR Si1S» ADHUMR ATa!
A.By persuading the child that he cannot reach to school early in the morning due to late night sleep
AS S i Uil Ote Sl S5 g s S s o es oS om0 S SIS D 04 S o

B. el gHwIq o YAt A femue rell wigta Suanh g

B.By convincing him that late night films are not useful for young children
B.ow Uit wie S S Usm Ol s ol (S o D)) 0 S S S A ol ol
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C. T MGl d URIGd hd el
C.By scolding him and discouraging for it
C.25 S8 b alasa (S G sl S13 S

D. T 3ol dovedT 3 d5Sler] ATUIRITST HITT UIST

D.By going to sleep before schedule in order to force him to early sleep.
Dorman S Sl A S Spwdd wByond o S SS jpme g s s (pdl

Answer: B .JTdl gHwiq fos I3 A fREue re s Iuant gl

B.By convincing him that late night films are not useful for young children
B.ow Uit vie S S Usm Ol s ol (S o D)) ) S S S A ol o

93

Answer:
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ST ABCD ST F0LaT AC 5V2 HHT g, T% T SA%R5?

If diagonal AC of a square ABCD is 5v2 cm, then what is its area?

SEn LS o Bl g = s i IR ABCD &0 Sl IS AC g S

()

(D)

(D)

12 §H?

12 cm?

A ﬁ'—'&l—ﬂf_—.‘yl.’l

25 AT
25 cm?

P i A ] S

25 AT
25 cm?

P i A ] S
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94 Qreitel ApdAsd fiar FiRa mea?

How many squares are there in the following figure?

:.uw.l.vu_:'q.‘f .waa..:ﬁ'hu_; A it

" =r et

A 4
B.7
C.8

D.5

Answer: B.7

95 R p1a! faemeif smuen Tichd Uas S SMUIRIIed TRATER B SR, IITIST ST ST
HIg-aR BT =07 SJUIR?

If some students enter your room and abuse you harshly, at that time how would You control your
emotions?

25 0SS iy Gl 5 eom S Jal i (SOl sl g s 5 JAl s o S S Gl llh gaS R
Som 58 Jy S S el o

A 30T ITAT HTNTd ATl 3R &> d ATl HREIUT HRUIT Yd HRUMR
A.You will react in similar tone and try to assault them physically
A S GS g (S S8 e o s osh Glesa sl S S daea; e o5 Sk ol

B.Ufgd dR 3T T XTd BRI YId e, HIT 1T H1d T 3Te foares
B.First you will try to pacify their emotions, then ask politely about their problems
B. S L i e e b S dile S0 g o S S S (S DS IEE S bl Sol ol o wcw

C.3ATUTAT aTe e b U TEHIITAR SATUTH Fooid SITUTR

C.You will feel ashamed among your colleagues
Cé URS ( gena odia pd glae ) /_j Ol C.‘:}‘ Sas “—J

D. 3T YA (S ST Plg- CIHUIRITS! dhR AIGaUlR.

D.You will report the case to the principal with recommendation of rustication.
D.- S (oS Gl S i il S (il (S 71 A) S alaa (S

Answer: B.Tfgd R 3TTUT AT Md DU YId B, HI ATl BT TN 318 e
B.First you will try to pacify their emotions, then ask politely about their problems
B. S U s = oo Ut b =S Bl S ) e S S (a3 € (S S8 I8 S bl S ol Ly e
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96

Answer:

97

A3

B.2

C.4

D.6

B. 2

DIRECTIONS: Complete the series by choosing right figure from the given choices.

_H:LS'J_‘S,,M L. . 5% ; ';u-';e:'._"{“"z?;“':‘;:”‘:"gw‘;'
Problem Figures
s f‘\’/’“\, P
L L
1 2 3 4
Answer Figures
N O/"\I Fr""\\'
LH. / P kh_/’
[(A) (B) (C) (D)
A. (A)

B. (B)

Y

ity 32

GET IT ON
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Answer:

99
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C. (C)
D. (D)
D. (D)
WATTUD! R[S N6g DIV 2
NG GG
B.dddre]
C.ddrdad
D.dgey
B.dddre]
ICRIGE
faenif aufarera faemafT A=fme! grgamT ussd M.
FHral B
|. T faeg HER YIS 1T HRATS Hall S,
|1, T UTIhi-T HIfgdl 31Tal.

Statement:Students were caught watching pornography in the student hostel.

Course of actions:
|. Strict administrative action should be taken against them.
[I. Their parents should be informed

ol

o

R LG e ieSa ald (liad ae Jiul Cuil il ek

Jee iy
I-d\%@\;éé\}jsww\quéu\-
I s Ul LS &1 S cpally S ol

AT | ST 318
A.Only | follows
A il & g &Y
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B || 3TIRUI B 3T
B.Only Il follows
B. i Il & 5 Y

C.UHR | fval 11 SIEA 318
C.Either | or Il follows
C.lLI& 5 &Y S (e

D.| far 11 SE10®! BTRta! SIIERUI HRd gl

D.Both | and Il follow
D. 1 osh 118 5 G SY cgr (958 s e

Answer: DI a5l Il SIS FTEIGT SFERUI xd ATe!

D.Both | and Il follow
Dol osh & 5 s &Y e (558w e

100 DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in
meaning to the underlined word from the given options.
If cancers are spotted early there's a high chance of survival.

A.Extinction
B.Living
C.Continuance

D.Advancement

Answer: A.Extinction
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101 I : el YD YYTd & faem | 31o7 11 fEaie 318 d. & fau™ UhdR Tad RO 3Ry XhdTd fdh
WA HRUMY TRV 31 Yehdrd. Jite! Te faU SR e uRome oy Wl il faum arr snfor
FATAUD! BT IR UITT A1 Glva! [AuTHHeN Heeid g ol o oal.

IERIGE

|. STRIPTY TRTR 1A ATSTHETE HReDT JUTRA YL Yeeb HRA SATION TR AIBIATST SshH o
FUY AT woo FUYY HRUFTT 3T 3Tg.

II. ITSTETAdT e UM dedhid! TReaT JU HHT el 311%.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:

I. The revised entry fee for internationally known TajMahal monument has been increased to Rs.50
and Rs.500 for Indians and foreigners, respectively.

II. The number of tourists visiting TajMahal has decreased substantially.

Sl 53 e s o =28 1 | o9 11T 55 Sl g 8 00 -0 S5 5 1 S Clsns 331 e b sy 313
O QA S Qa8 B 0 28 S (S abead )5l a5y Sl (g o S 50 SIS 1 aasd (Ol S s (e il
= S il Ses S Glad e 0 S lily (50

Sl
| =500 L3l 50 iyl 0 S pesde pe ) il S W5 pud A1y 5 S Jae 2l RN spdia g o (el BY) G
'd@‘s&ﬁ)s/_—.u)

A.| BT URUIH 318 3HIf0T 11 § T dlehled 30T UHE HRUT 3Tg;
A.lis effect and Il is its immediate and principal cause;
A e G| e O sl = AV = s i o) o8 (S )

B.| § dT@hIas 30T T HRUT 3MTg 3707 1| BT Tl TRy 3MTg;
B.l is the immediate and principal cause and Il its effect;
B. i gl | ed gl oyl 2 s i sl oA = S Gl

C.1 8T URUTY 318 U |1 & T ATl S0 Td HRUT AATa;
C.lis an effect but Il is not its immediate and principal cause;
C. o g | s gl oS 2 SV T - = e~y ol D) o8 (S )

D.I1 81 GO 318 W | & AT dlch1es A0 YHE HRUT ATg!;
D.Il is an effect but | is not its immediate and principal cause;
D. i Ol 1 et Ol 089 = 3 e = g s ol sl 558 (S )
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Answer: B.I g dlchIad HTIOI U HRUT 3Tg HTIOT 11 8T AT YR 3ig;
B.l is the immediate and principal cause and Il its effect;
B. i gl | ed gl oyl 2 s i sl oA = S Gl

102 I TS YT U TG faeried IR faum ied Saiararett A, B, C 3T D 3 R faum
3{Ted. HHIAR Ayt SIS oSt same oy [qem gu=an faum=rar gaad, ST gl fau™ didbeetedr
T faymred fAfed s/

IdTedh ThaR Mfud fhar g 3.
A. frafar died o,
B. fAwtar fiwa e,
c. fRafar e eR.
D. fRAfar e 8.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The producer is either wealthy or poor .
A. The producer is wealthy

B . The producer is not wealthy

C. The producer is poor

D. The producer is not poor

S s Sduie (pand g K 5 i S 63 ) i e ) laa s s Seis o ales SO e Jlse 1l
op Gt S Ol oS e hie Lea 53 sl L)y Se gl Hol (S alea o e abea Sy (U - in

g O A WPt PyT
A= el sl -

B L el misiSsn-
Coue pusndsn-
D= e cu sl

A.BD
A.BD
A.BD

B.DA
B.DA
B.DA

C.CB
C.CB
C.CB
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D.AB
D.AB
D.AB

Answer:

B.DA

B.DA
B.DA

103

Answer:

GET IT ON
Google Play

A collection of people around a road side performer will be termed as

ATTES

A.Crowd
A.35) K) alas )

B.STHIG
B.Mob
B. 5w

cs
C.Herd
C.Ge&ea

D.4d

D.Audience
D.cilasle, Gpaalas

ATTEf
A.Crowd
A.35) K) alaa)))

Sela (SR 658 a8 Sy leSa il yy 556 S35,



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

104

Answer:

105

fAcer: @reita Y fade Ysaiar smetlkd sied.

light/ ride/ when/ price

GET IT ON
Google Play

R ¥ Wead! AGHIRMTIR HISUN dell aR HI0TAT eg 1T HHBIAR J5al?

DIRECTIONS: Each of the following questions is based on the following given words.

light/ ride/ when/ price

If all the words are arranged according to Dictionary then which words will come fourth?

o Jaidia pisadl o 3 Jlgw S das Syl

light/ ride/ when/ price

1) L oS il Ly 55 il LK) L S ] S5

A.Light
A.Light
A.Light

B.Ride
B.Ride
B.Ride

C.When
C.When
C.When

D.Price
D.Price
D.Price

C.When
C.When
C.When

DIV ARG SIST AT81?
Which is not a correct pair?

§ 2 U D pmnia Sl (i S e O
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Answer:

A - bl AR
A.Venus- morning star
Ao B S mua

B.HTos- AT U5
B.Mars -Red planet
B.ookes JY) Cuidly & - sla)

C.gC1 g - ™
C.Dwarf planet- Ceres
C.omme-Cuidly ol 53

D.YHdb - NI
D.Comet- Orion
D.nsl-Cue S

D.YHdb - NI
D.Comet- Orion
D.0s)-Cue S

I & el ufshar e -
Afforestation is the process of-

c‘ﬁl‘c.hf' J}é\

A ST GreawIge!

A.Cleaning forests
A S Slia S D&

B.g&RIAU

B.Plantation
B. UK 530

C.SITd HT1qul
C.Cutting of forest
C. S S Kaa

D.g IH1eH ThiAd B0l

D.Collecting forest resources
D. LS pen S diluy S oia

B.g&RIuu

B.Plantation
B. LIS (53

GET IT ON
Google Play
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107 T WIeitd Alfgd! dlodd ardl ST @Telid gy 3w &
S Ird ufaffe R, i, S, Ao, 7R, aref 3o Aifga i dmaTe i A, O <= 3mRd
Zferor 3nfiheeT, Sifeeforar 3nfdr =y, iaTie! TdeT™ 3edsarsdl daTTea feasht Targ el (HIurdTe!
G el UbTd feasit Uarg a1l IR YA J3aTd 6o, AGaR] JaT . fbare giH
Mol YD SR TaTd Bl SO Sf&01 31hehT 8T Uhdl ST <= giell f1d i dliep .
IR TI&0T Sfihor AHaRT . Urd Sfiee ferra Iam qor df 1 Fiiesar] e =1 JHaRT 7iar. difga
FGARY T o1 Ot oIyl TIa HATel. St ek ST erara et fo HiedRt Ward el AT St Thr=aa
el fom ARt var e, TRAM gUarRt Udr S, Rar afaor sfihde Tielt ot eaRt el Aral.
THT=a Tielt ATa).
TTeade! S et AR 9 SR-a?

DIRECTIONS: Study the following information carefully and answer the questions given below.

Seven representatives of a company — Sagar, Nilu, Reema, Shweta, Garima, Parth and Mohit
travelled to three different countries i.e. South Africa, Australia and France. Each of them travelled on
different days of the week (no two persons travelled on the same day), starting on Monday and ending
on Sunday. Minimum two people travelled to each country and South Africa is the only country to
which three people travelled.

Sagar travelled to South Africa on ‘Monday. Parth travelled to Australia but neither on Tuesday nor on
Saturday. Mohit travelled on Sunday but not to France. The one who travelled to Australia travelled on
Tuesday and the one who travelled to France travelled on Saturday. Garima travelled on Wednesday.
Reema travelled to South Africa but not on Thursday. Nilu did not travel to France.

Which one of the following combinations is true according to the given information?

(o Sl SOl 8 0 2w s oy e glad S Slagles b aa ke iy

03 b il ey 81 i e e il 0 Cuse ) )l ebay 8l by sl Blu — o il il S S S
oadd 50 (S) LS hu (e sty aline SN S SR S gain ol g sl e pm S e e O LS 86 1S (il i
5 0l 1S e S ay A i ) LS e 1S S oSl g 5 3053 6 oS (LS G i (00 (o0 Sl
1S i

a0 S e o a sl S R 55 A3 S LS i S L il gl LS i S A8 8 asin (0 Sy S Rl
5 0ol LS i 1S (8 5 e 31 LS e 35y S O 5 G LS i IS UL AT 5 o - S Gl SR LS i S )58
Dh S il gp 3 gl S il pmen (SIS i 18 0 81 i lay) LS i S e le SULS i S e S
€ 2 ) O5S s e 058 sane Jd ax ke (Bilhe S cilagles K g2

ATTY- THAR - G sMfthant
A.Parth- Thursday - South Africa
A sis — G e 6804

B.&dT - UAR - Y
B.Shweta - Wednesday - France
B.owil 8- 2% - Wed

C.Hifgd - AHAR - Gf&rur 3nfthant
C.Mohit - Monday - South Africa
Cori il (st — om - Cuse

D.$IUde! I el
D.None is true
D.= uw Gy S8
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Answer: D.W g :naﬁ

D.None is true
D. =t Qs 3 (A S

108 Out of the four alternatives, choose the one which can be substituted for the given words/sentence.
A person who sacrifices something of great value and especially life itself for the sake of principle

A.Martyr
B.Glutton
C.Obese

D.Mercenary

Answer:  A.Martyr

109 HTARSAT TR F& 318

The Kamakhya Temple is at —

.gnjd.'m\:\';‘n\s

Afege

A.Dibrugarh
Ao 2R,

B.I[ATGIC!

B.Guwahati
B.ox LIS

C.YIIR

C.Bhubaneshwar
C.uxe sdnise

X-ANCARI
D.Kolkata
D.ux B <

Answer: B.1[d élél

B.Guwahati
B.usx SIS
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110

Answer:

111

6 O 7 ATSIUATGRIT DIV dadt [T SfoT I’y shTeT TRERIRM daldd Jeda?

At what time between 6 to 7 O’ clock minute and hour hand will coincide?

6 S5 Lale e oyl Uisms (S 368 ) Siie g S (e pd S 0 T e

(B) 6:43_
i1
) 5328
i1

(D) 6:5~
11

() Bigel
11

5/11 x 66 = ?

5/11 x 66 = ?

5/11 x 66 = ?

A.30
A.30
A.30

B.28
B.28
B.28

C.36
C.36
C.36

D.24
D.24
D.24

GET IT ON
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Answer: A.30
A.30
A.30
112 x2—9x+20=0 I TIHIHRUM I AR

The roots of the quadratic equation x>-9x+20=0 are:

gy S Gl sbse @ 3e X2—9x+20=0 L

A3, 2
A3, 2
A3, 2

B.6, 3
B.6, 3
B.6, 3

C5,4
C54
C.5,4

D.2,10
D.2,10
D.2,10

Answer: C54
C5,4
C5,4

113 TTeiiade! Fatd JeT 3guTid Qe
Find the largest of the following fractions

GBS U S (65 e e S D A pake

A.895/428
A.895/428
A.895/428

B.23/12
B.23/12
B.23/12
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Answer:

C.88/46
C.88/46
C.88/46

D.313/150
D.313/150
D.313/150

A.895/428
A.895/428
A.895/428

WTelTedeh! PV UTo I RUTgR AR fdeTor Nd STTd?

Which of the following water is actually absorbed by the plants?

U LS G a3 S 0935 S e 058 o 0pe A0 > e

A T[ATH YU TToft

A.Gravitational water
A, S duiiig S

B.g&HITEUIR TTuft

B.Capillary water
B. b stus

C.SeRIY® groft

C.Hygroscopic water
C. b S sl 5,8

D. et Id
D.All the above.
D. ew Y e

B.g&HATEUIR TTuft

B.Capillary water
B. &b stus

GET IT ON
Google Play

115 Out of the given options, choose the one which is the correct active voice of the sentence given below.

He was being taken to the cell by the police.

A.The police has been taking him to the cell.

B.The police had took him to the cell.



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

C.The police have took him to the cell.

D.The police were taking him to the cell.

Answer: D.The police were taking him to the cell.

116 I WTed wiHe e yafaiayd e sieR/<ree/Re Aaer.
fecren I (6, 18, 54)

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Given set: (6, 18, 54)
54 18 ,6) :Cuw LS L)
A.(6, 13, 27)

A.(6, 13, 27)
A.(6, 13, 27)

B.(10, 16, 28)
B.(10, 16, 28)
B.(10, 16, 28)

C.(5, 15, 45)
C.(5, 15, 45)
C.(5, 15, 45)

D.(13, 19, 22)
D.(13, 19, 22)
D.(13, 19, 22)

Answer: C.(5, 15, 45)
C.(5, 15, 45)
C.(5, 15, 45)

17 O T e JHMT Meg HIUMET 2

A. 3Ny
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Answer:

119

B.GXHIY

C.HwY
D TR

B3R

YRAT fRIftT w20 o sfrga?
Who is the Minister of Shipping in India?

= i Sad K @ e

A grgaH
A.Ramvilas Paswan
A0 s Y 50l

B. S &) .Tg. Mer
B.D.V.S. Gowda
B.I3s8 sl (53

C.3Hd AR
C.Ananth Kumar
C. kS ¢l

D.TH. o TSH
D.N.J. Gadkari
D.sAX =

D.TH. o TTSH
D.N.J. Gadkari
D.s X =

il araT UifereRIagIRAgR It ol Sild —

PVC is obtained by the polymerization of—

= U deals wdae S8 e (S i HiK S 6

ATITA

A.Propane
A.ons

GET IT ON
Google Play
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Answer:

120

Answer:

ACHIENENINES
B.Vinyl chloride
B.3l S iy

C.'TA

C.Styrene
C.onpin

D.ufyfeeiH

D.Acetylene
D. i)

A CEIERERINES]
B.Vinyl chloride
B.3,4l8 iy

I feoien waaiEe ove o Ader.
DIRECTIONS: Choose the odd one out from the given alternatives.

oy S 5 o w o dilie K

A.2158
A.2158
A.2158

B.2106
B.2106
B.2106

C.1348
C.1348
C.1348

D.1236
D.1236
D.1236

B.2106
B.2106
B.2106

GET IT ON
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Answer:
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Answer:

I Wi uyiHe fociedn qafaidyT Jeftid sieR g fasr.

UOGP : UOJS:: UNAM : ?

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related group of letters from the given alternatives.

UOGP : UOJS:: UNAM : ?

.w;@%};ME&JJﬁﬁde@AC‘édJ$U.:\Ad‘}ud..3:3,\.;)dln:&lm.m

UOGP : UOJS:: UNAM : ?

A.UDEX
A.UDEX
A.UDEX

B.UNDP
B.UNDP
B.UNDP

C.URQR
C.URQR
C.URQR

D.URSV
D.URSV
D.URSV

B.UNDP
B.UNDP
B.UNDP

‘2or a1 Wecra favgrlf Weg o 2

A 38
B.T@MT

C.y&hdl
D . HHOR

A 3]
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123 Teh] TTQT TG [ohHT JIRT WY HT0 He 80 TG UUT UTHARBT qeh ST HE HTUQ I 3178, I
PHTIUNTS] AP 3T HIUTH! fhH T-HT BT 3118 ?

A cube is painted and cut into 80 smaller but identical pieces by making the minimum possible number
of cuts. What is the minimum number of cuts required to cut a cube?

S A S S S, g S8 ES (Saa oS w oS S WEES S 0 0 805 02 03355 80 s S S S SO
(S By pra S K8

A12
A12
A12

B.8
B.8
B.8

C.6
C.6
C.6

D.10
D.10
D.10

Answer: D.10
D.10
D.10

124

Answer:

3 TUIDHRT SHHUIR -

A THETOT
B.STERd
C.gaxH
D.7[urdd

AXTHITUT
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Answer:

126

31107 9151 BIA-THE AT UTET=T STd.

and termites prefer to live in colonies.

O i S ) o 08I St ) b :

A ZamR
A.Pigs
Al s

S
B.Rats
B. =5

C.X™
C.Rabbits
C. 5L A
D.H5™1
D.Ants

D. i

D. 5w
D.Ants
D. i

AHRYS qorErst € wuIa Hafer g

=

A.16 9%

A.16 years
A.16 Jw

B.20 9%

B.20 years
B.20 Jw

C.45TY

C.45 years
C.45 Jw

D.18 9§

D.18 years
D.18 Jw

is the maximum limit for mental age

s (Seah) —wedh) (S e flad

GET IT ON
Google Play
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Answer: B.20 a'ﬁ
B.20 years
B.20 Juw
127 IWHR TS R e

Government imposes taxes to:

= S Ao GSE G Sa

A DHHGAd [AUATE I=Tdl HRUFTA!
A.Uplift weaker sections
A 2 S s (S osib )5S

B.TSY 0N ATAqUaTHTo!

B.Run machinery of state

B. & =S S0 Sombe Sl

C JiHdAe Yucitan o9 qUruarETst
C.Check accumulation of wealth among rich

C. A S S8 S S pen (S @lpn gl S gl
D.a8at®! T4

D.All of above
D. G —w pe YU aa e

Answer: D.W Iqd
D.All of above
D. s (20 Yl ax e

128 R I BIA ..o

A scanner scans ............ .

INGIRIEE]

A.Pictures
A. bl

B.HASIPR
B.Text

B.ia3
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Answer:

C. BRI 3101 AoigR alsle!
C.Both picture and text

C.usis syl sl

D . BTaf & et ST HorgpRat A
D.Neither picture nor text
D (Gl sl nsal 5543

C. BT 3101 AoigR alslet
C.Both picture and text
C.usisd noad sl sl

Y N .

SO AGSTT Y TGRS TSR 3MTg?

Which of the purest commercial form of Iron?

QE‘MM\JUNI‘:EUABCN‘—‘“éQJXU}S:NUMU‘

AfSSm dres

A.Pig Irons
Ao S

B. ¥ ¥id

B.Stainless Steel
B.Jul

c.¥a
C.Steel
C.diiul Gl i

PRSI CAGIRCE]
D.Wrought Iron
D.oxl &)

D HSld dds
D.Wrought Iron
D.ox &)

GET IT ON
Google Play
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Answer:
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g =Y ol
64433 + 33333 — 42325 — 28246 = ?

Simplify:
64433 + 33333 — 42325 — 28246 = ?

ol lal:
64433433333 — 42325 — 28246 = ?

A.27195
A.27195
A.27195

B.28295
B.28295
B.28295

C.28190
C.28190
C.28190

D.27005
D.27005
D.27005

A.27195
A.27195
A.27195

GET IT ON
Google Play

P BT Q &7 SRIMUAT 45 T, @R HTfO1 R 8T Q =1 aedl 45 HT. aR SRIN, P URA R HIUIAT RN 311g?

If P'is 45m northeast of Q and R is 45m northwest of Q ,then R is in which direction with respectto P ?

NPeQ s = o e el S 045w RQ 55 = upe ove el S e 45w P L SR (e Gian S

L

A&
A.South
Acsa

B.d

B.East
B.3.

C.3M
C.North
C.di
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Answer:

133

D.Uf&H
D.West
D.w s

D.UfgH
D.West
D.w e

i TATRn TaY geal
people lose touch with reality

o lila g 233 s s S oa K

AJdeh

A.Neurotic
Asa e S Glacl JA

B.Afds RIS
B.Psychotic
B.oa e S

cds

C.Maniac

C.cbs

D.BAC
DBtoC
D.B sC

B. A I RI
B.Psychotic

B.oai e (Sl

84864 WU BV AU 352
84864 is divisible by which of the following?

84864 ¢ - sl BB s S (e i a2

A1
A1
A1

GET IT ON
Google Play
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Answer:

135

Answer:

B.8
B.8
B.8

C.9
C.9
C.9

D.7
D.7
D.7

B.8
B.8
B.8

‘Xqe9’ 1 YsarT el grea.

AT + 3
B.IT + 3T
c.gt + 3rg

D. + 3T

D.g + 31T

GET IT ON
Google Play

Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Dissapear
B.Definite
C.Dilemma

D.Disaster

A.Dissapear
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136 3T GaTeaT gaid, ST 39T [aanaiaiad &4 drTuR?
How would you like to behave with your students, in comparison to your children?

€ 8 S iy U S Sl - jha (S il S pale il 5 e lie S (o 0l

A.SITT 3T GeTgHTor

A.Just like own children
Azob S s S dSL

B.XTeH fagmaf=n 9 arTues <ol T ATl
B.Equal treatment is not possible to all the students
B. = U San misy il il S (sale Qb ol

C.GSUURIEId 3aUR

C.Repressed treatment
C.z3le S Ol n

D. i1 Hedr 81d ol i T

D.lIt is better to lend them a free hand.
D.os )l S SIS = Sip

Answer:  A.3FTdl 3T GATIHTO!

A.Just like own children
Aok S usm S L

137 3w Trefifecienn sfeRT=an HHTd BTl 31eR T Pail 3TRd o T A Wiel fededr Tiaiie! uh 3mg

ab_baca__ab_b_bc

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

ab _baca_ _ab b bc

=SS e LR S i alid (SO S o ende8 Gia (58 (e m diga S i o
ab _baca_ _ab b bc

A.ababa

A.ababa
A.ababa

B.acbac
B.acbac
B.acbac
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C.acbca
C.acbca
C.acbca

D.acacb
D.acacb
D.acacb

Answer: B.acbac
B.acbac
B.acbac

138 feT: Wreitertiet Udd UYTd, HferhHeid Ue TR et 3], Tobia TedT e,
3,5, 12, 39, 154, 772, 4634

DIRECTION: In each of the following questions, one number is wrong in the series. Find out the wrong
number.

3,5,12,39, 154,772, 4634
oS S pwihle ol odhle 5 G e s g il

3,5,12,39,154, 772, 4634

A5
A5
A5

B.3
B.3
B.3

C.39
C.39
C.39

D.154
D.154
D.154

Answer: C.39
C.39
C.39
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139

A1
B. 1/2

C.0

Answer: B. 1/2

140 3hH 13, 26, 39, .............. < 9d UG MYl
Find the 9th term of the sequence: 13, 26, 39,..............

39,26 ,13:f =W arfGsd S zmod....

A.402
A.402
A.402

B.117
B.117
B.117

C.208
C.208
C.208

D.220
D.220
D.220

Answer: B.117
B.117
B.117
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Answer:

142

SHHGR ATAUT=IT aIgiHS) WIelldud! BI0d SH aTuRd STd?
Which of the following fuels are used in land vehicles?

€ = lla LS Jleniad (e 238 (e L S s (20 08200 Jid ~a )i

AT
A.Petrol
A. Js b

SRR
B.Diesel
B. J3

C.HEeit

C.CNG
C. >l o=

D. Ut Id
D.All the above
D. sl YU aa aia

D. Ut Id
D.All the above
D. (‘L‘“: yl—.‘ N

GET IT ON
Google Play

TTAdUP! HIITAT HRATHT Sid-fafderdr gicwdic ®orard?

Which of the following is known as “Bio-Diversity hotspot of India”?

f o bla Ul 5 sk S "Glw Gl )13 5L 1S Gjle” 058 e D ax ia

AR 9Te
A.Western Ghat
A. Sl e

B.gfdd 1e
B.Eastern Ghat
B. &S 8 i

c.ufgw feurera

C.Western Himalya
C. rle (2 1

D.aIAUD! Tl ATl

D.None of these
D. 0% 2 &S = 0 O
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Answer: A.UfaH 9T
A.Western Ghat
A. SlE

143 I TS YT U T faeried IR faum igd Sai=ararett A, B, C 3T D 3 R faeum
3{Ted. HHIAR Ay SIS TSt same oy [qem gu=an faemrar gaad, ST il fau™ didbeetedr
T faumred fAfed s/

SR I US4 USd ATg1, deg] gWhIes Uad
A. AL UIGY ZTaT ATt

B. oW U9 USal

C. dY gD USdl gldl

D. 4 g5hIes TSl egdl

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

When it does not rain in July , there will be drought
A. it did not rain in July

B. it rained in July

C. there was drought

D. there was no drought

S s Sduie (pand g K 5wl S 63 ) i e ) laa s 3 Seia o ales SO (e Jlse 1l
op Gt S Ol 638 e e Lea 53 sl by Se gl Hgh (Salea o g abea Sy (s - Sin

S 5 A SER 5 s G e Y e R
A5 ot Gk U SV s -
Beiss Uik Ut Y s -

Cotd 8 5 s sia

AAC
AAC
AAC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

GET IT ON
Google Play

D.CD
D.CD
D.CD

Answer: A.AC
A.AC
A.AC

144

faem:

YRR Jeifdd ST Th IS Aoy IGW Wl UGS Ubedl Tdl.,

Hola B
|. YRAH $HRATs bell 38 § ABRU SHTaID TG,

. GEd ISRIB TR TS B3 Tl

Statement:

A member of Indian diplomatic mission was caught buying State secrets.

Course of actions:
I. India should deny that the action has taken place.
II. The diplomat concerned should be recalled

ok
LI5S S A 5 Gl oS ) SO S Gl S b3 (3l

Jae a2y
|- Vs maBl 5 568 L) AS s L S lSG) S LTI
-zt Wl DU Gl 5 58 g sl il

ATdd | ST 38
A.Only | follows
A CGiyal B o &Y

B.Iad I 3IRIRUT B 31T
B.Only Il follows

B. Cia Il S 5 Y

C.UHMR | fbaT Il 3T 3R

C.Either | or Il follows
C.ILIE 5 SY S e

D.| fddT 1| SEIUDT BTETG! STERUT B ATat

D.Neither | nor Il follows
D.los 1 & 5 &Y oo (B w0
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Answer:

146

BT || STARUI B 3T
B.Only Il follows
B. iy Il £ 5 &Y

3o} SIS dTCUMRT SRR TR i f[dhiid g

Stranger anxiety develops soon after

R PYRUN . U FOEPTEE SR Y TP% PN

A STAATET h e

A.the concept of conservation
A sl (S Jagas

B. 3T & (4o

B.egocentrism
B.u X waa

C. 7T Rigid

C.the theory of mind
Ciasm Sl

D.FH SR YheoT
D.the concept of object performance
D.osai € Ko S8 (S s

D.FH SR HheuT
D.the concept of object performance

D.osai & B2 S8 (S i

YR SO OTfha™ exe=<a HiHan ged offd

The border between India & Pakistan is called —

(2 ob 1S am s S g S USL g

A Fb HigT AR
A.Mc Mahon Line
A Ol S

B.Isfaaw ars
B.Radcliffe Line
B.oY alsyy

GET IT ON
Google Play
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Answer:

A3

B. 2

C.4

D.6

A3

C.HI$C S AT
C.Mount batten Line
C.oiY (in cusla

D gt Hiurag! et

D.None of these
D.uost &S e )

B.Isfaaw A
B.Radcliffe Line
B.osY sy,

GET IT ON
Google Play
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Answer:
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T el el HHM AUl B @ial facied HiaaTaaYd Hiordr 31iguf e s&id?

1. 3Ts
2. TdH
3.qY
4,380
5. g0y

Which one of the given responses would be a meaningful order of the following words in ascending

order?

1. Mother
2. Child
3. Milk

4. Cry

5. Smile

§S s ati i 3d e S B U3 s paie Sl L € s ae Sl a8 0 (e i i s a5

o
L D9l
L,

L Sl S

o~ WODN -

A1,5,2,4,3
A1,5,2,4,3
A1,5,2,4,3

B.2,4,1,3,5
B.2,4,1,3,5
B2,4,1,3,5

C.2,4,5 4,1
C.2,4,5 4,1
C.2,4,5 4,1

D3,2,1,54
D3,2,1,54
D3,2,1,54

B.2,4,1,3,5
B.2,4,1,3,5
B.2,4,1,3,5
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E‘T \.a\. w 1.+J'JI ‘b’w 1.4_1"ll 'lc}-rl_—E;-u.la. \._J"II \drw 1.:”:1'JI HT 24a6d4b9c8 5 ?

If ‘a 'denotes *+', 'b’ denotes "+, "¢’ denotes "-’, 'd’ denotes "x’, then 24a6d4b9c8 = ?

24a6d4b9c8 = ? 5o Koy S KA e Soln S U ¢ oS S 4D

A 2
B. 17
C.34

D. 19

B. 17

YT Tl FRI&h arTd UTgridl fTasd-
You would like to prefer to join a teaching profession—

25 08 iy U S LAl Culged pe By S a8

A.3TTT W1 TTaTeaT Higyl Uesd d/d &3

A.By giving bribery for your appointment in village town school
Anrgd S @l A S )5 i o Sl S i o3&

BIIPTI TRTaRId Wid ST Uar HRUdgR
B.By exalting your excellence in national level competition
B.— Sl S S ) U Allis g mhas o8

C. = aRRY U TR S e Tdmi
C.By any means as job conditions are very difficult
C.on IS Gy s S (5 853 A8 580 s ot )3 (g (S

D IS 1T AGd U,
D.By seeking political support.
D.- s 83 (S Silea (ol

BP9 TR’ Weid Iy e BRuggR

B.By exalting your excellence in national level competition
B. o a5 58 Skl o o Allie y hans (e

= BA g L5 ' B
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151 WTeAteTieh! SR[G AT BV 2

A3 St U T Hidar ffed e
Bl AT T i aTe] ARTa.

C.dt TRIaa it el Uehd 319,

D faTeRur 16t TSt smgsaren guf gid Argia.

Answer: Dﬁmwaré’rﬁ@ Wqﬁ@ﬁﬂ@ﬁ

152 HeRAYA 6 ferex o Bled A0 A1 ST gToft Trehal. G681 6 ferex s dre SHfor e St arof
HIAd. TS T GH BTG dHe-RAUTd g TOT UTudTe THIU§ 9 : 16 JTal. TS0 T favd! 3img?

From a container, 6 liters milk was drawn out and was replaced by water. Again 6 liters of mixture was
drawn out & was repalced by the water. Thus the quantity of milk and water in the container after
these two operations is 9 : 16. The quantity of mixture is

S o s WIS L JSG € e 1S A6 e Db Sl S L I3 b S (S o sl W L JG 350 i1 6 ¢ S S
= S e S CSja . 1619 e (S L el adsd (e RS ey S A ge 53 ) 2ok ool LS Lo IS Gl S

A15
A15
A15

B.16
B.16
B.16

C.25
C.25
C.25

D.31
D.31
D.31

Answer: A.15
A.15
A.15
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153

Answer:

154

GET IT ON
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Toh fafR1y Widsfaew UeHE, SR ADVANTAGE 8T Xlsc EFWEPVEH! 31T $edeg ohdl Sld 3d,

DUPLICATE & RTeg T HTNd HT HEdE hall Sed?

In a certain code language, if the word ADVANTAGE is coded as EFWEPUEIF, then how is the word

DUPLICATE coded in that language?

Lil S e b oS i (e sade S ADVANTAGE S EFWEPVEHI Bl (e by o) 55 ¢ = Ul S

DUPLICATE Elalesd S

A.EAQMODEUF
A.EAQMODEUF
A.EAQMODEUF

B.FAQMODEUI
B.FAQMODEUI
B.FAQMODEUI

C.FAQMODEVI
C.FAQMODEVI
C.FAQMODEVI

D.FAQMJDEVI
D.FAQMJDEVI
D.FAQMJDEVI

C.FAQMODEVI
C.FAQMODEVI
C.FAQMODEVI

=T el Uyl vy et (?) ST S ST Yo I §d?

3739+164%27="7

DIRECTIONS: What approximate value should come in the place of question mark (?) in the following

equations.

3739+164x27="

& 1 silys miaed L 5SS S () 5 1S Jlpme (20 Ui 10 o 2k 1l -

3739+164%27="7

A.8000
A.8000
A.8000

B.4000
B.4000
B.4000
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Answer:

155

Answer:

C.8200
C.8200
C.8200

D.6900
D.6900
D.6900

C.8200
C.8200
C.8200

YRS 3UIE HR IT-HEN Teld U] HIUT JURO 35?2
Which of the following is a reform in India’s Indirect tax structure?

e S S il (S S A e e L 058 s (e

AReardia twreStem
A.FDI in retail
A diiy S 63l

B.SiTgdt

B.GST
B..& ol o>

C.aaTaal
C.Demonetization
C.euifis

D.8 Id
D.All of these

B. ST

B.GST
B..& ol o>

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

156 A Treita usime uy Rgrea SR (2) 19 AsA?
348+29x15+156=(?)3+120

DIRECTIONS:What will come in place of the question mark (?) in the following questions.
348+29x15+156=(?)3+120

Sl 1 LS B (S (9) Gl s e YV g g 0 i
348+29%15+156=(7)3+120

AA12
A12
AA12

B.6
B.6
B.6

C.36
C.36
C.36

D.9
D.9
D.9

Answer: B.6
B.6
B.6

157 TIT: faeiean waimyH oves o HasT.
DIRECTIONS: Choose the odd one out from the given alternatives.

ofin S 5 o e e dilie K 0

ATdq

A.Turmeric
A.sh

B.HIT&AT
B.Gourd
B.ou <

c.iud
C.Apple

C.u
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D.ITTSIR
D.Carrot
D. sK

Answer: B.HIgaT
B.Gourd
B.2u_s

158

Answer: A. (A)
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159 T WIeid ATfgd! dlodd ardl ST WTelid gy 3w &
ST Ird ufaffe R, i, S, Ao, 7R, aref 3o Aifga i e i A, 7 <= 3Rd
Zféror 3nfiheeT, Sifeeforar 3nfdr =y, ioTie! TddT Jedsaredl daTTea feasht Targ el (HIurdTe!
G el UbTd fGasit var a1l IR URgH Jeaid 6o, AGdRT JAT . fbar giH
Ao i+ YD SR TaTd el ST Sf&0 31hehT 8T Uhdl ST <= giell f1d o dliep el
IR G&0T b AHaRT e, uref Sfiecierara Tiem qor df A1 S dRT Tid AT [HaR] . Jifgd
FGaRT T T Ot STyl Tia HATel. it ek i erara et foe HiedRt Ward el AT St Thr=aa
el fom AR Tar e, TRAM gUaRt Udry der. Rar afaror sfthde et ot TeaRt e Aral. e
THT=aT el ATa).
i wIoreT ST ot feasft vary Fer?

DIRECTIONS: Study the following information carefully and answer the questions given below.

Seven representatives of a company — Sagar, Nilu, Reema, Shweta, Garima, Parth and Mohit
travelled to three different countries i.e. South Africa, Australia and France. Each of them travelled on
different days of the week (no two persons travelled on the same day), starting on Monday and ending
on Sunday. Minimum two people travelled to each country and South Africa is the only country to
which three people travelled.

Sagar travelled to South Africa on ‘Monday. Parth travelled to Australia but neither on Tuesday nor on
Saturday. Mohit travelled on Sunday but not to France. The one who travelled to Australia travelled on
Tuesday and the one who travelled to France travelled on Saturday. Garima travelled on Wednesday.
Reema travelled to South Africa but not on Thursday. Nilu did not travel to France.

To which county and on which day did Nilu travel?

o Sl SOl 8 0 2 s gy e glad S Slagles dd aa ptie iy

03 bl ey 81 i ey (e il 0 Cuse ) )l elay 8l Ly sl Bl — o il il S S S
oadd 50 (S) LS i (e sty aline SN S SR S gain sl g sl e pm S e e O LS A6 1S (il i
SoRA S g o Seaals B asia sl LS Hiu 1S Sha S 5o 08 5068 S (LS (i 3 2 Sl S
a0 S i o a sl S JRe 55 A3 S LS i S L Sl gl LS i S A8 8 asin (0 S n S Rl
o WS i 1S Gl B 5 e ) WS i 5 S JRe 5 0l LS i UL AT 5 a8 1S Gl 8 SIS i S ) 50
Dh S il gd gl oS il pmen (SIS i 8 0 81 gia i ley) LS e S e le LS i S e S
S S o oS )l KW Sde (S8 5 ks

A YR, GI&or 3MflheT
A.Wednesday, South Africa
A ) sia

B.3[hAR, 3icfer
B.Friday, Australia
B.LL il caras

C. TR, 3Refer
C.Thursday, Australia
C.Lb Al &l jren

D.H&aR, iecfer
D.Tuesday, Australia
DLl i ¢ K
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Answer: D.H&dR, 3fiecfer
D.Tuesday, Australia
DLt (S

160 ST 31fOT foream SIS <At IefA aaTe TUNRR 1:2 3178, SMTATIN 6 TR &iedT aard U 11:20 Biad.
18 auTYd e qare! UK B Bld?

The ratio of the present ages of Anubha and her mother is 1 : 2. After 6 years from now the ratio of
their ages will be 11 : 20. What was the ratio of their ages 18 years ago?

Usee S o i s 1818 50 11:20 aulii 18 5 300 S ) 30 S B s 1 o 102 i 1S g 00 (Sl 5 S 5l Lgasl
ol i LS S

A.3:5
A.3:5
A.3:5

B.2:7
B.2:7
B.2:7

C.1:4
C.14
C.1:4

D2:5
D.2:5
D2:5

Answer: C.1:4
C.14
C.1:4

161
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Answer: A. (A)

162

Answer:

163

MS —Word g
MS — word is a/an —

L
-cmjju.ng\&g\

A ST Redte

A.Operating System
A s S

B.9§ STSHoR
B.Web Browser
B. sl s

C.XNY oM

C.Search Engine
C.oxil g

D .t d 3R

D.Software
D. s il

D.giUcd3R
D.Software
D. s il

T 315

IR INEEIR A ArE
8,2,3,4,5,4,9

Find the median of the given series.
8,2,3,4,54,9

B s (0te) Jauss) 1S s (S0 0
8,2,3,4,54,9
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Answer:

A9

B. 11

C.15

D. 20

A9

A4
A4
A4

B.3
B.3
B.3

C.2
C.2
C.2

D.8
D.8
D.8

A4
A4
A4

b xbhxh+4 x4 ><:4_?

EFX5—5X4+4x4

GET IT ON
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165 T iUl Ui FHafor HRogrret, @ et (P), (Q) (R), (S) 30T (T) B UM a1e’ Ay SfIehHM

TAREHT RT; TR ATdrd 9! SR .
P. 4= e wiffida fop, ot feaTeaaredl TRt #xd 3ig HRU degl 3 g giad.

Q. ddHd fgdTest G T SNf0T A drsSaral SRTUATT! 3 JUdsd A, R Gl U I§GR

TR HAMT 3¢ Ud gl

R. U] TReddhs HRITAT SIS HUNY T SITu=d1 T UTgH, a=il HER Ug-Id HRuaTugn

S. TR YT AHdIS] GUITE HLHTHT JAHHDTS AT ST fgdTeadTa feidl HRITe gat

T. i T 3iid} feaq gian 3nfr Arparst T, Ard 3fHe™ SrTSd gidl.

IR HHdR WTaade! HIud ared ufgd 3Rid?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence

to form a meaningful paragraph; then answer the questions given below them.
P. The ant tells him that it is preparing for winter when food would be scarce.

Q. Winter soon begins, and the grasshopper has no food to survive, while the ants enjoy the corn in

the warmth of their nest.

R. Upon seeing an ant carrying a heavy corn kernel to its nest, the grasshopper asks the ant to join

him for some fun, instead of working hard like that.

S. The grasshopper laughs and says why care for winter when the present is good.
T. It was a pleasant day and the grasshopper was in a gay mood, singing and dancing around.

Which of the following should be the FIRST sentence after rearrangement?

ostes @ o 1l (P)e (Q) (R)« (S) ush (T) ol 8 23 2 e e Smd i o gy A S |y Sina b S

s S

P. So oS S S o o) Sl 2 S am 55 S LS ol 5 s,

Q. o Aot o8 S misel il 13e AS gl Jien AS o g (i UleS A1 S S35 8 0 550 g o A
.

R. v S Cine G K30 gile SO AS LSl 50 38 oy s DU S 200 15 Sl (e S LSy —u) oa
=l

S. =Ly dr el iy paala a8 (S S8 (S 5 m LS ) ALas 135,
T e Lo gl sl U8 L G o 138 )50 W 0 Ll o,

Q:‘z"% L.‘):‘ é‘g—' alaa L 0SS 2 é C‘:’J i "JL.’JJ

AT
AT
AT

B.S
B.S
B.S

C.P
C.P
C.P
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D.Q
D.Q
D.Q

Answer: A.T
AT
AT

166 TSy Aasae fof auiae, 53 IR SFUaT aIdl BT 3A?

What is the chance that a leap year, selected at random will contain 53 Sunday?

f8 5 Jaidia 531 53 Jlos il LE LS iy sh i i o o Sl LS

AT
AT
AT

B.2/7
B.2/7
B.2/7

C.3/7
C.3/7
C.3/7

D.4/7
D.4/7
D.4/7

Answer: B.2/7
B.2/7
B.2/7
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167 I AR YEHRATID! TdhoTu] YMSdld Tgaved AT TgRAM S e GRaad 3fTg. defiaeh
STUeTaT dred fob e Ygb Rl Ml THTATET 3118 WU, <t W e T ST SIS PR 38 34 B
Ad. 3= Rl 3TuuT Aream=i ¥ Ges YuR?

One of the senior colleagues is trying to exercise his power through majority in the school. Sometimes
you feel that the colleague has power mongering attitude and therefore, realizing it in his own favor. In
such a condition how would you like to adjust with him?

Sl e e by S (R3S (S5 Jlesiasd 1S illa i) e 03 S Gy S (ne J sSen) gl Sl o (e O sl i
O o B8 e sana (e B 2l ol o s ) sl s 1S CuBDBS (S IS (e gl ol AS o Uigy (s sena
2 S Cnndl Sl S G G e By pem

A.3{TI0T I TTeTad JGUIR U1 AT ST 3fSyes FHfor xR
A.You remain in the group but create obstacles in channelizing his powers
A S Sy S8 (e Jletind Sl A S Gl (S 8 G o s R

B.3TUUT TUTT 46 SIRA He HTHCT&H HIHTT aTaauaTal e HRUIR
B.You try to pass your time in more creative manner
B. S S (i S (S IR e il (BIAS 5 ealyy g Ll

C.WWWWEWWWWW
C.You establish another strong group against his party
C. S S aild s R hgume SOl A S F)L (S el

D.) 30T AT i ded ATl AR AR
D.You put forth the principles of upright behavior.
D. S S Ui S Uslsmal S il uaa o,

Answer: D.) 3TUT IRTeT HifaH dd Tl THR SaUIR
D.You put forth the principles of upright behavior.
D.. S s Ui € pslgal S il maa o,

168 Out of the given options, choose the most appropriate one to fill in the blank.
My grandfather at five every morning to do his exercises.

A.rises
B.have rise
C.have rose

D.has rise

Answer: A.rises
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169 fer: fedear aie mfcrddia gt T e
1,27, 25, 343, 82, 1331
DIRECTIONS: Find the wrong term in the given number series:
1,27, 25, 343, 82, 1331
2068 i hle ez e sl K 20 Sy

1,27, 25, 343, 82, 1331

A.25
A.25
A.25

B.82
B.82
B.82

C.1331
C.1331
C.1331

D.343
D.343
D.343

Answer: B.82
B.82
B.82
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170 I Tl fGdedn Uyied Tt i fAUHie IR 7T 3HTed. Tdd TUgTdid AU HIaeiydd ardm il
TR 3T THGU0! Ufge g faeTd SIIRRU SRUIRIR) 71T 3eswl.
(a) 3F® BRI SN A, HIUATE! YTHYET HR T4l Plo! N YIS AT,
(b) DIUICHET ST Uds d. PIVIATG! Udh Sich Al DIUTTE! Sdp ST el
(c) P! TS A8 Y. Td dTsc TRTA A9d. BTa! IS, T .

(d) HTY® TS} 3. B! Ugt SR T9d. U] e A T9d.

DIRECTION: The questions given below have four groups of three statements each. Read the
statements in each group carefully and identify the group/groups where the third statement logically
follows the first two statements in the group.

(a) Many fountains are cascades. No waterfall is fountain. Some cascades are not waterfalls.
(b) No bag is pack. No pack is jack. No jack is bag.

(c) No good is bad. All bad is not good. Some good is not good.

(d) Scale is ruler. No ruler is pointer. No pointer is scale.

o) sl o 5y o s S Sl e Qs 8 0w 8 e S Ly o e il 0 S Vs R (e i il
S5 VS sm S bl g0 Lo ne s 8 sk laie Ol | Gl (oS @aLS (S Ga g Sgiy S

() -um 0 e Sl eaS . Ol el Ugs (A58 o DL £l i
(b) = o B San S8 . o S Sy S8 L ot Sy S S8
€)=zl aS .ol e oo i) &S

(d) -= e S 8 gy S - o e S s V) PSSy JSl

APHISD a
A.Only a
A<=

B.&%d® d
B.Only d
B.w,=d

C.Hd® b 3T ¢
C.Onlybandc
C.cab yslc

D.%d® a 3O d
D.Onlyaandd
D.<r=a sd

Answer: D.®de a AT d
D.Onlyaandd
D.wyaa sd
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171 55-70 ST AT IS T[0T 3cied T ekl SRT SRl
An individual with 1Q score between 55 — 70 can

= Saeos sy Oaasd S T0 55 Sl 58 1S Gan 38 Sl

A DTHTAT Y- BOIUINI
A.Hold a job
A n S, cla

B.TY o Hd HHTBUIRT
B.Marry and have a family
B_):\\}(U‘;A:\éjj\}fcﬁcdu

C.fiz sHauIRT
C.Make friends
C_}f Ul Cuw g2

D.a, b 30T ¢
Da,b&c
D.acb_sc

Answer: A BTHTAT Y= STUIRT
A.Hold a job
A 5 GsS) s

172 "TRATSTT FRRG" IO Ied Sild?
Who is called the ‘Flying Sikh’?

-u:‘:'/_-'“*b‘l*c”?uéé‘”ﬁm

AT Rig
A.Bhagat Singh
AW SR

B.firear Rig
B.Milkha Singh
B¢ LSl

C.gXHeH g
C.Harbhajan Singh
C.&im g

D.%dR Rig
D.Kartar singh
D¢ )6 <
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Answer: B.firea Rig
B.Milkha Singh
B.Sin LSl
173 Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.

Joseph said, “I bought this pearl for my mother.”

A.Joseph said that he bought this pearl for his mother.
B.Joseph said that he have bought that pearl for his mother.
C.Joseph said that he has bought this pearl for his mother.

D.Joseph said that he had bought that pearl for his mother.

Answer: D.Joseph said that he had bought that pearl for his mother.

174 ST WTelid Trsai SUel Asad IR ATSUft HR.
(a) Praise
(b) Practical
(c) Prank
(d) Prayer
(e) Practise

DIRECTIONS: Arrange the following words according to the English dictionary.
(a) Praise

(b) Practical

(c) Prank

(d) Prayer

(e) Practise

‘S e S L) () s paie (Bildas Sl (g5 K il

Praise (a)
Practical (b)
Prank (c)
Prayer (d)
Practise (d)
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Answer:

A.(b), (e), (a), (c), (d)
A.(b), (e), (a), (c), (d)
A.(b), (e), (a), (c), (d)

B.(d), (e), (a). (c), (b
B.(d), (e). (a), (c), (b)
B.(d), (e), (a). (c), (b)

C.(a), (e), (b), (c), (d

) ), (d)
C.(a), (e), (b), (c), (d)
C.(a), (e), (b), (c), (d)

, (b), (a), (c), (d)
, (b), (@), (c), (d)
, (b), (a), (c), (d)

@@@

A.(b), (e), (a), (c

). (a), (c),
A.(b), (e), (a), (c),
A.(b), (e), (a), (c),

(d)
(d)
(d)

GET IT ON
Google Play

175 THh XFHH Ul 9y a1y TRes ATl G 5 au S GUe Bid 30T gURI I9HH Ui a¥ g1 Aes AT

WM 12 gufAed fawe g4, I ITadid S 3l TS &R HIeT:

A sum of money at a certain rate per annum of simple interest doubles in the 5 years and an another
sum of money becomes three times in 12 years at a different simple interest rate per annum. Interest

rate which is lower between both cases:

S sl 12 a8 flia (g D3l o (o U5 S0 8 (aa O3l B s )3 U geadin S (S 3 ke 25 AL o8 i SO

=S 0 25w LS (e Jla G ysen 05350 = e s B8 0 w53 (S 3 e 25 WL K):

Answer:

®) 162%

(D)  20%

®) 162%
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176 TIT: WIeld Hifgd! dTessigdd gl TOT Wi g I :
S Ird ufaffe R, i, S, Ao, 7R, aref 3o Aifga i dmaTe i A, O <= 3mRd
Zferor 3nfiheeT, Sifeeforar 3nfdr =y, iaTie! TdeT™ 3edsarsdl daTTea feasht Targ el (HIurdTe!
G el UbTd feasit Uarg a1l IR YA J3aTd 6o, AGaR] JaT . fbare giH
Mol YD SR TaTd Bl SO Sf&01 31hehT 8T Uhdl ST <= giell f1d i dliep .
IR TI&0T Sfihor AHaRT . Urd Sfiee ferra Iam qor df 1 Fiiesar] e =1 JHaRT 7iar. difga
FGARY T o1 Ot oIyl TIa HATel. St ek ST erara et fo HiedRt Ward el AT St Thr=aa
el fom ARt var e, TRAM gUarRt Udr S, Rar afaor sfihde Tielt ot eaRt el Aral.
THT=aa Tel ATa).
QT YA HRUIRY ekl HIUT Blcil?

DIRECTIONS: Study the following information carefully and answer the questions given below.

Seven representatives of a company — Sagar, Nilu, Reema, Shweta, Garima, Parth and Mohit
travelled to three different countries i.e. South Africa, Australia and France. Each of them travelled on
different days of the week (no two persons travelled on the same day), starting on Monday and ending
on Sunday. Minimum two people travelled to each country and South Africa is the only country to
which three people travelled.

Sagar travelled to South Africa on ‘Monday. Parth travelled to Australia but neither on Tuesday nor on
Saturday. Mohit travelled on Sunday but not to France. The one who travelled to Australia travelled on
Tuesday and the one who travelled to France travelled on Saturday. Garima travelled on Wednesday.
Reema travelled to South Africa but not on Thursday. Nilu did not travel to France.

Who was the last one to travel?

(o s SOl 8 0 2 s oy e glad S Slagles b as ke iy

03 b Al ey 81 i e (e il 0 Cuse ) )l elay 8l by sl Blu — o il il S S S
oadd 50 (S) LS i (e sty aline SN S SRR S gain ol g sl e pm S e e O LS 86 1S (il i
2 OR 08 18 (e o Se anly ndg il rsin ol LS i 1S Sa Sl s 5 3181 3 oS s oS (LS s e (03 (o S
S s

a0 S i o a sl S R 55 A3 S LS i S L Sl gl LS i S A8 8 asin (0 Sy S5 Rl
5 0o LS i S il i e gl LS i 59y S e 5 Gl LS i IS U Al 3 e (a3 1S (il 3 S8 LS e S 1 5
Dh S il gp 3 gl oS il pmen (SIS i € 5 81 gia i ley) LS i San le LS i S jaaie S
e S padd AT Y5 58 i

AR
A.Sagar
A. Al

B3

B.Reema
B.L

c.Hifga
C.Mohit
C.cuse

D.&dT
D.Shweta
D.G &
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Answer: c.uh%a
C.Mohit
C.ouse

177 I ATADT IV ST THTHE aTIRAedT FH Ve ieaT G AT IRl a-fdd?
e, U, gem

DIRECTIONS: Which of the following figures represents the best relationship among the three terms
used in the question.
Teacher, Principle, Son

Sl (S et oy sy Olpasd S B (8 Ny s Jlential e ) sms 23 00 o) LIS (o 058 e e I3 ke 1y

= A
\i}g ‘d)m\ caliul
(Al
(C)
Answer:
178 = ieie § 1 U G Bld-

Munshi Premchand was a writer in the language of —
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Answer:

179

Answer:

A ST
A.Bengali

Ao S8

B.3YUSit
B.English
B.uxe Sl

cf&d
C.Hindi
C.uw sy

D.dIHe
D.Tamil
D.ue Ja

c.fgdt
C.Hindi
C.uw 2y

fEerear TR HIUTd HIFdT qET HFdrT g vfafda 3ms?

Which of the answer figure is exactly the mirror image of the given fizure?

En,

d = J‘S.‘_i_ar.:i"-'_'ﬂ.'-._-_:l :-_'_-‘k..a\__kﬁi-_l ..;-d:'.-"“-'._'..'.sﬁ'-‘ti.."ﬂ‘“ri_ ;._,_;:-—

HEG Il

Main Figure
£2" 4

S ..
ooez
SARIST TR 3T

Answer Figure
el S e

S Dt S Ooo‘

GET IT ON
Google Play
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180

Answer:

181

Answer:

Choose the word which is most similar in meaning to the given word.

VAIN

A.Useless

B.Useful

C.Beneficial

D.Nutritious

A.Useless

GET IT ON
Google Play

3T UTcfeh <] T FHRTAR 3HTshHdh AT S fdb SHTUeTe 3g=aT dredid HRUI-

You became aggressive on those parental issues which you feel inadequate because—

ASG S U s esmae SU S Gl s 8 gl e s Jilise o)) S cpall s

AT 3UT SIaTaR U<ie URUMH STe d ST TN 3Hd 3SYes AT &Hd 38

A.lt has heavy impact on your brain and create obstacles in your life
Al &l S (S5 (e (S (Sl sl = s S35 Gpm o gley S TS Gl

B.3{TYUT edT TR-SIIERIES HTUe JeFycl! THIG sl
B.You have lost sympathy in their inappropriate behavior
B.ow =20 S a8 it o i mas (S ) il S ¢

C. YU e faaRidT ddb Pig hd ATel
C.You cannot rationalize their thinking
C. =55 iy Gy Jsies Sz om (SOl

D.3TUT ¥GHTT AhRTHD ATl
D.You have developed the negative attitude.
D. = WS Jlis) s die Sl

B.3{TUUT <1 TR-STIGRIES TAe Ty THIGT S¥a
B.You have lost sympathy in their inappropriate behavior
B.ow 2 SR e gl waay (S o) ulids S
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182 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic
expression ‘jump to conclusions’ in the sentence given below?
I know you found some suspicious things in her office, but don't jump to conclusions talk to her first.

A.Form an opinion or judgement hastily
B.To take a lot of time to decide something
C.Consult many people and books before deciding or doing something

D.None of the above

Answer: A.Form an opinion or judgement hastily

183 TR 3T HiSTalT SiTel!
IQ is calculated as

= Bl LS Gl SIS S oS

A.CA/MA x 100
A.CA/MA x 100
A.CA/MA x 100

B.MA/CA x 100
B.MA/CA x 100
B.MA/CA x 100

C.100/MA x CA
C.100/MA x CA
C.100/MA x CA

D.aTU®! Tha! el

D.None of these
D.ow &S o O

Answer: A.CA/MA x 100
A.CA/MA x 100
A.CA/MA x 100


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

e

7

GET IT ON
Google Play

184 16 AU B ATHT AMSd HTNHS YUAId Teied] §Gdie Arud 75 0T U ol Td AHRIS ag
3|

Kartik 16 years scored in 75 in an 1Q last conducted at his school his mental age well be

16 S50 e (13 (S O el S LS )5Sl 75 (e Cand 08 A1 (5 AT Gae JsSan) ) 5SS Al

A12
A12
AA12

B.8
B.8
B.8

C.14
C.14
C.14

D.10
D.10
D.10

Answer: A.12
A.12
A.12

185

YRATd Ut HRUATITS ! Il <Uaed 3Tg:

Highest Court of appeal in India is:

= allae oy Jeb (S dul e @l

AT
A.President
A. ra

B.3=d <IUTelY
B.High court
B. S b

C.97Te T

C.Separate court
C. cllae K K
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D.gal=d =Ty,
D.Supreme Court
D. SsS ae,

Answer: D . afe =T,
D.Supreme Court
D. CsS a,

186 SR 3{TIa i g e ofg, ot T UTftics RISBTd SITd ST STl §TeR dle UTgUaTy Ty,
3721 U 3901 BT faaR HR0MR-

If your friend is the follower of different religion, he goes inside the religious place and ask you to wait
outside, what would you like to think in this situation—

od Gl o U S adlae IS S sl il el ) o Ul ail S 8 e o oo JS 5 Hm S e dilide G IS Gl K
=S e WS Gae Ja &) geaa-

A fIF I Bed, fh SMTueaTe IrATeRIsR UTfHe R Ugrd e
A.lIt will be better, if you get an opportunity to visit the religious place with
A e gisn € 5 So )08 8o nde Sl 8185 i

B. 30 W& SITUATTS! FHR &3 © al ST THe Sied, O JRTdl [AaRUIRd ATg!

B.Well he will understand you better before you refuse him to accompany, he does not coinpell you
BUS dne plose S S —w ol QIS Sl di e o i 6 e gaan Sl oy Saed

C.3{T9UT ST YHTTHTY ¢aTd o B
C.You will be meditating outside according to your religious conviction
C.. L LS miil e 5l Gldas S aSs nde 3l G

D 3TYUT AT T S eTuNeh Rl YHARUEASHTO UrefT e

D.You will pray for the welfare of humanity in a secular manner.
D.- S S lea A S asms 572l (S Gl e I S o

Answer:  D.3{T00T HTURISH T HeduNdh Rl YHARUEATHTO! YT e

D.You will pray for the welfare of humanity in a secular manner.
D.- S Sled A Sagp 5o S bl e Sl S O
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187 I TS URATA Ueh Y@ faURied IR fa4™ 3igd Sai=arare! A, B, C 30T D 3/ 9R faur™
3{TRd. HHAR faem SISt st Same wyd faum ga=n fyumrer gaad, snfir 3t faum afheesen
g faurmred Afed s,

SR ! IR UTUT Wi, TR T HIUQTg] SR AYdd THwl gIUR ATsld.
A. TR O Troft e

B. TR! IXY IO WA ATl

C. IRl BTG SHRIATINIS FHAT AT6Id.

D. JRETeT BHIUTTE] SRITfISgh JHET gl

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If you drink water sufficiently , you won’t have any health issues .
A. you drank water sufficiently

B. you did not drink water sufficiently

C. you did not have any health issues .

D. you had health issues .

S 0sdes Shuie gpand g K 0 _wal Sl ) e o) daa s an S o alaa Sl e Jlse e il
op Githe S ol S e ihie ea g3 sl by Se Ll Hgl (S ales o e alea Sy (b - i

S U o e G G (AL O Jlaie i o R
Al Sl e e i Sl

Bly ot B i e lia Sl
C-Zos o e -

D- s Jban -

AAC
AAC
AAC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD
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Answer: A.AC
AAC
AAC
188 TIATAUD! Tl Wog ST
AMR
B. YTl
C. M
D.HTd
Answer: B.'J-I'I'EﬂC
189 T feiedn AL aTes o fAdeT.

Answer:

DIRECTIONS: Choose the odd one out from the given alternatives.

ofis S 5 o e o dilie K

ATTTSIR
A.Carrot
A. aK

B.dcIcT
B.Potato
B.sl

C.3md

C.Ginger
C_d‘)d‘

D.®is!
D.Cabbage
D.ses

D. el
D.Cabbage
D.ses

GET IT ON
Google Play
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190 T WA Gaed UHHe Hiet AU 0T S1! FshY 3ied. WH-Td: 1 auaiuel d vl SR av
fearett faem greTan I Adt anTdiier S1for AR feaied faemre srgevul fadeamie! sivrr fssy

oC Y
difchpeted] Hdl o 3l

faum:
V=K>M=N
e
.LV=M
I.V=N

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
V=K>M=N
Conclusions:
.LV=M
I.V=N

e o e S Gilas s s g pshale SOl 81 G 2o ge il eaS any S Gl ¢3S (e ) dd aa e il
3 osh Alihie e L S L Lo Gae i3 S (S Alead 1S il Gl e o) oSy o glar clily 8 ol e 6 S g

= US m S ally K,
Gl

V2K>M=N

i

V=M.

V=N.ll

AR Bad | ey @Ry 3

A.If only conclusion | is true
Au)m)g\l 51&“)3/\;:\33

B.oR Wad || ftp W7 38

B.If only conclusion Il is true
B.asii cspa K] = Sy

C.dR | fbar 11 Tt T sy TR 3R

C.If either conclusion | or Il is true
C. R sl = oo Sl s (e il

D.aR 191§ argle! (spY W ATeId

D.If neither conclusion | nor Il is true
D. S Ul o o 2 o SS m Ope 0l
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Answer: D.dR1d 1l g areig! fAshd TR AEId

D.If neither conclusion | nor Il is true
D. AN LNl G o) (o (58 e e il

191 Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Embarrass
B.Excede
C.Exilerate

D.Equiptment

Answer: A.Embarrass

192 e aRGA BT 35?2
What is the mass of earth?

€3 LS (35) (e 1S (0

A.5.972x 1024 farmH
A.5.972x 10%* kg
A.5.972x10%%,) 1<

B.7.34x1022 fhaiumH
B.7.34x10%? kg
B.7.34x10%2 .l L4l

C.1.98x1030 fraumH
C.1.98x10%° kg
C.1.98x103%0 .l Z,i<

D.9.109x103! foratiomy
D.9.109x103" kg
D. 9.109x103". <1<

Answer: A.5.972x 1024 faumd
A.5.972x 10%* kg
A.5.972x10%%a) K4S
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193
Grellel HGclAed, T AT it g, Hdor gRIfEd st gefadr, =ita T

Zelaar nfor I Afger geiaar

In the following diagram, the circle represents Rural Pecple, Triangle
represents Educated People, square represents Officers and Rectangle
represents Females.

Fagry :,___'.'G_,S_'. ‘____E._'nl._l.,n."n\___':'._'n'_ﬁl AL afed il :,__:'ﬂ__)i \___f._\l'in.'h:_'f. ,_a'_,l:-:_.i_;..'.:_;,.:'.'_'. ‘._.,'—""-?-'Jg"—,"'j (i e
I TR % P Lt Y O WP S - P B G )

AT BT FeAT HERHT AEeedr g AT Afper geiad?

Which amoeng the following represents uneducated females belonging to
rural areas but Officers?

A g S et AN e e S B S g e ABh ket g b LS e ] e

T o gl

A5
B.8
C.2

D.10

Answer: A5

194 Choose the word which is opposite in meaning to the given word.
DESPAIR

A.Hope
B.Hopelessness
C.Desperation

D.Distress

Answer: A.Hope
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195

Answer:

196

864+?+9=3
864+?+9=3

864 +7+9=3

A.39
A.39
A.39

B.21
B.21
B.21

C.36
C.36
C.36

D g0} BHIurag! et

D.None of these
D.s¢ &S = =)

D gt Bviag! et

D.None of these
D.set &8 o =)

GET IT ON
Google Play

Il TETHE Shiar feaen ufafdai= e sa1 e fogadrd arar Bordrd.............

Pattern of responses an organism makes to the stimulus event that disturbs the equilibrium is known

as

d&dﬁe@ﬁ&\;@&dmﬁﬁbgﬁpﬁ&hw;S_J\MJA.\\.SJA&:JJ

ATl
A.Stress
A.Sui

B.HMRI® dTuT
B.Strain
B.Sauis

C.faan
C.Anxiety
C.or =
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Answer:

197

Answer:

198
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Which isotope of hydrogen is being used as a fuel in nuclear fission reactors?
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A.Protium
Aasis

B.SJcad

B.Deuterium
B.a i 533

C.gracg
C.Tritium
C.pdl 5

D.acu! 9d
D.All the above
D.csgs e O

B.SgcRaH

B.Deuterium
B.a i 533

Out of the given options which best expresses the meaning of the given Proverb?

Rome wasn'’t built in a day.

A.You cannot expect to do important things in a short period of time

B.Everything can be done or accomplished within a very short span of time

C.Rome which is one of the most beautiful cities of the world, was built in just twenty four hours

D.It just takes twenty four hours to reach any beautiful city like Rome
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Answer:  A.You cannot expect to do important things in a short period of time

199 T a1 TS YYD qraTel A SMfoT B 3=t & faem faet Sme SMfor (1) sifdr (1) o/ g ey feaa
3{Ted. AHIT0 Higld 3raced aiRll Jood e o)l Wiaid G faum sRIeR fTgd 3R oS,
WWWWWWW%%W.

A: BT} TS 0T e,
B: HTeaTd 10T Y 315

|:Wré;—crw@f§a?3ﬂ%a.
II: g 0T ST 3.

DIRECTION: In each of these questions, you are given two statements A and B followed by two
conclusions (I) and (ll). You have to take the two statements to be true even if they seem to be at
variance from commonly known facts. You are to decide which of the given conclusions definitely
follows from the given statements.

Statements:
A: Some kings are queens.
B: All queens are beautiful.

Conclusions:
I: All kings are beautiful.
II: All queens are kings.
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bc-b-c-b-ccb

DIRECTION: In each of the following letter series, some of the letters are missing, which are given in

that order as one of the alternatives below it. Choose the correct alternative.

bc-b-c-b-ccb

i DR opn e LR K s e i ealil Cin gaS e Sia o0 ae Sy

bc-b-c-b-ccb

A.cbcb
A.cbcb
A.cbcb

B.bbcb
B.bbcb
B.bbcb

C.cbbc
C.cbbc
C.cbbc

D.bccc
D.bccc
D.bccc

Answer: A.cbcb
A.cbcb
A.cbcb



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

e

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




